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Questionnaire for advertisers and ad agencies



Q1. Do you submit digital advertising as an advertiser, or do you operate digital advertising
as an ad agency? [Select one]

0% 10% 20% 30% 40% 50% 60%

a) We submit digital advertising as an advertiser
and we operate digital advertising as an ad agency

b) We do not submit digital advertising as an advertiser
but we operate digital advertising as an ad agency

c) We submit digital advertising as an advertiser
but we do not operate digital advertising as an ad
agency

d) We do not submit digital advertising as an advertiser -
and we do not operate digital advertising as an ad

agency
Answers Number of | Ratio (%)
answers

a) We submit digital advertising as an advertiser and we operate digital advertising as an ad agency 14 13.5
b) We do not submit digital advertising as an advertiser but we operate digital advertising as an ad agency 25 24.0
c) We submit digital advertising as an advertiser but we do not operate digital advertising as an ad agency 58 55.8
d) We do not submit digital advertising as an advertiser and we do not operate digital advertising as an ad 7 6.7
agency

Number of respondents 104 100.0




Q2. What is the total number of employees in your company? [Select one]

0% 10% 20% 30% 40% 50% 60%

a) Ten or less
b) 11 to 50

c) 51 to 100
d) 101 to 300

e) 301 to 1,000

f) 1,001 or more

Answers Number of | Ratio (%)
answers
a) Ten or less 8 8.2
b) 11 to 50 1 11.2
c) 51 to 100 3 3.1
d) 101 to 300 10 10.2
e) 301 to 1,000 14 14.3
f) 1,001 or more 52 53.1
Number of respondents 98 100.0 o




Q3. What is the capital or total amount of investment of your company? [Select one]

0% 10% 20% 30% 40% 50% 60% 70%

a) 0 yen

b) One yen to ten million yen

c) More than ten million yen to 50 million yen
d) More than 50 million yen to 100 million yen

e) More than 100 million yen to 300 million yen

f) More than 300 million yen

Answers Number of answers Ratio (%)

a) 0 yen - -
b) One yen to ten million yen 11 11.2
c) More than ten million yen to 50 million yen 10 10.2
d) More than 50 million yen to 100 million yen 10 10.2
e) More than 100 million yen to 300 million yen 7 71
f) More than 300 million yen 60 61.2

Number of respondents 98 100.0




Q4. What is the amount of total sales in your company? Please answer the average amount of

three recent fiscal years. (a rough estimate is acceptable) [Select one]

0% 10% 50% 60%
a) Ten million yen or less [Jj
b) More than ten million yen to 50 million yen [Jj
c) More than 50 million yen to 100 million yen |
d) More than 100 million yen to one billion yen |GGG
e) More than one billion yen to ten billion yen [ NNENEGNGGGNGNNG0GN
f) More than ten billion yen to 100 billion yen [[NNNENEGNGNNNNN
g) More than 100 billion yen |
Answers Number of answers Ratio (%)
a) Ten million yen or less 1 1.0
b) More than ten million yen to 50 million yen 1 1.0
c) More than 50 million yen to 100 million yen 4 41
d) More than 100 million yen to one billion yen 10 10.2
e) More than one billion yen to ten billion yen 12 12.2
f) More than ten billion yen to 100 billion yen 21 214
g) More than 100 billion yen 49 50.0
Number of respondents 98 100.0




Q5. (This question is for Ad Agencies) What is the amount of total sales for digital advertising
business in your company? Please answer the average amount of three recent fiscal years. (a rough
estimate is acceptable) [Select one]

0% 10% 20% 30% 40% 50%

a) 0 yen

b) One yen to one million yen

c) More than one million yen to five million yen
d) More than five million yen to ten million yen
e) More than ten million yen to 50 million yen
f) More than 50 million yen to 100 million yen
d) More than 100 million yen to one billion yen
h) More than one billion yen to ten billion yen

i) More than ten billion yen to 100 billion yen

j) More than 100 billion yen

Answers Number of answers Ratio (%)
a) 0 yen 1 2.6
b) One yen to one million yen 1 2.6
c) More than one million yen to five million yen 1 2.6
d) More than five million yen to ten million yen 1 2.6
e) More than ten million yen to 50 million yen 3 7.7
f) More than 50 million yen to 100 million yen 3 7.7
g) More than 100 million yen to one billion yen 15| 38.5
h) More than one billion yen to ten billion yen 8 20.5]
i) More than ten billion yen to 100 billion yen 5 12.8
j) More than 100 billion yen 1 2.6
Number of respondents 39 100.0 8




Q5-1. (This question is for Ad Agencies) How do you expect the ratio of digital advertising business
sales to transition within the overall advertisement sales at your company in the future? [Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80%
a) It is expected

b) It is expected
to decrease

expected

Answers Number of Ratio (%)
answers
a) It is expected to increase 29 74.4
b) It is expected to decrease 2 5.1
c) No change is expected 8 20.5
Number of respondents 39 100.0




Q6. (This question is for Advertisers) Of all advertising expenses, what is the amount of expenditure
used for digital advertising? Please answer the average amount of three recent fiscal years. (a rough
estimate is acceptable) [Select one]

0% 10% 20% 30% 40%

a)0yen mmm

b) One yen to one million yen

c) More than one million yen to five million yen
d) More than five million yen to ten million yen
e) More than ten million yen to 50 million yen
f) More than 50 million yen to 100 million yen
d) More than 100 million yen to one billion yen

h) More than one billion yen to ten billion yen

i) More than ten billion yen to 100 billion yen

j) More than 100 billion yen

Answers Number of Ratio (%)
answers
a) 0 yen 1 1.4
b) One yen to one million yen 6 8.2
c) More than one million yen to five million yen 5 6.8
d) More than five million yen to ten million yen 2 27
e) More than ten million yen to 50 million yen 7 9.6
f) More than 50 million yen to 100 million yen 7 9.6
g) More than 100 million yen to one billion yen 26 35.6
h) More than one billion yen to ten billion yen 18 24.7
i) More than ten billion yen to 100 billion yen 1 1.4
i) More than 100 billion yen
Number of respondents 73 100.0 10




Q6-1. (This question is for Advertisers) How do you expect the ratio of advertising expenses related

to digital advertising to transition within overall advertisement expenses at your company in the
future? [Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

a) It is expected

to increase I ——

b) It is expected .
to decrease

c) No change is
expected -

Answers Number of| Ratio (%)
answers
a) It is expected to increase 63 86.3
b) It is expected to decrease 3 4.1
c) No change is expected 7 9.6
Number of respondents 73 100.0

11



Q7. Which of the following describes the digital advertising submitted or operated by your company?
Select all applicable advertisements. [Multiple answers accepted]

0% 10%20% 30%40% 50% 60% 70% 80% 90%100%
a) Display advertising (including video

advertising and excluding social media s

advertising seen in c).)

b) Search ad

c) Social media advertising I

Answers Number of Ratio (%)
answers
a) Display advertising (including video advertising and excluding social media advertising seen in c).) 90 93.8
b) Search ad 82 85.4
c) Social media advertising 86 89.6
Number of respondents 96

12



Q7-1. Select the number of ad tech service products used to submit or operate digital
advertising at your company. [Select one]

0% 10% 20% 30% 40% 50%
a) We do not submit digital advertising as an ]

advertiser (it is outsourced to ad agencies)

b) One product
c) 2 to 4 products [N
d) 5 to 7 products N
e) 8 or more products N

Answers Number of Ratio (%)
answers
a) We do not submit digital advertising as an advertiser (it is outsourced to ad agencies.) 41 42.7
b) One product 3 3.1
c) 2 to 4 products 21 21.9
d) 5 to 7 products 13 13.5
e) 8 or more products 18 18.8
Number of respondents 96 100.0
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Q8. (This question is for Ad Agencies) What is the ratio of revenue from transactions with business
partners in your overall digital advertising business sales? Please answer the average amount of
three recent fiscal years per business partner. (a rough estimate is acceptable)[Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

Google

Yahoo!

Twitter
LINE
Others

M a) 0% M b) More than 0% to 10% I ¢) More than 10% to 30%
" d) More than 30% to 50% M e) More than 50% to 70% M f) More than 70% to 90%
B g) More than 90% to less than 100% M h) 100% 14



Q8. (This question is for Ad Agencies) What is the ratio of revenue from transactions with business
partners in your overall digital advertising business sales? Please answer the average amount of
three recent fiscal years per business partner. (a rough estimate is acceptable) [Select one]

Answers Google Yahoo! Facebook Twitter LINE Others
Number| Ratio |Number| Ratio |Number| Ratio |Number| Ratio |Number| Ratio |Number| Ratio
of (%) of (%) of (%) of (%) of (%) of (%)
answers answers answers answers answers answers
a) 0% 1 2.6 5 12.8 6 15.4 12 30.8 16 41.0 15 38.5
b) More than 0% to 10% 8 20.5 9 23.1 24 61.5 21 53.8 20 51.3 13 33.3
c) More than 10% to 30% 9 23.1 19 48.7 5 12.8 3 7.7 - - 4 10.3
d) More than 30% to 50% 10 25.6 4 10.3 1 2.6 1 2.6 1 2.6 2 5.1
e) More than 50% to 70% 7 17.9 - - 1 2.6 - - - - 1 2.6
f) More than 70% to 90% 3 7.7 2 5.1 2 5.1 2 5.1 2 5.1 4 10.3
g) More than 90% to less than 100% 1 2.6 - - - - - - - - . -
h) 100% - - - - - - - - - - - -
Number of respondents 39 100.0 390 100.0 390 100.0 390 100.0 39, 100.0 390 100.0
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Q8-1. (This question is for Advertisers) What is the ratio of expenditure to each business partner
for advertising expenses related to digital advertising in your company? Please answer the
average amount of three recent fiscal years per business partner. (a rough estimate is
acceptable) [Select one]

0% 10% 20% 30% 40% 50% 60%

Google

Yahoo!

Facebook

Twitter

LINE

1 |

Others

M a) 0% [ b) More than 0% to 10% ¥ c) More than 10% to 30% d) More than 30% to 50%
M e) More than 50% to 70% M f) More than 70% to 90% M g) More than 90% to less than 100% M h) 100%

16



Q8-1. (This question is for Advertisers) What is the ratio of expenditure to each business partner

for advertising expenses related to digital advertising in your company? Please answer the

average amount of three recent fiscal years per business partner. (a rough estimate is
acceptable) [Select one]

Answers Google Yahoo! Facebook Twitter LINE Others
Number| Ratio |Number| Ratio |Number| Ratio |[Number| Ratio |Number| Ratio |[Number| Ratio
of (%) of (%) of (%) of (%) of (%) of (%)
answers answers answers answers answers answers
a) 0% 1 15.5 15 211 20 28.2 29 40.8 34 47.9 40 56.3
b) More than 0% to 10% 12 16.9 22 31.0 28 39.4 28 39.4 30 42.3 18 25.4
c) More than 10% to 30% 19 26.8 21 29.6 19 26.8 11 15.5 5 7.0 9 12.7
d) More than 30% to 50% 20 28.2 12 16.9 2 2.8 2 2.8 2 2.8 4 5.6
e) More than 50% to 70% 5 7.0 1 1.4 2 2.8 1 1.4 - - - -
f) More than 70% to 90% 2 2.8 - - - - - - - - - i
g) More than 90% to less than 100% 1 1.4 - - - - - - - - - -
h) 100% 1 1.4 - - - - - - - - i -
Number of respondents 71 100.0 71 100.0 71 100.0 71 100.0 71 100.0 71 100.0
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Q9. (This question is for Ad Agencies or Advertisers who directly do business with digital platform
operators.) When directly doing business with digital platform operators, do contracts for ad tech
services offered by the said digital platform operator contain stipulations as seen below? [Multiple
answers accepted]

Facebook

" 3)
" b)
c)
d)

.e)

Google

Yahoo!

Twitter

LINE

Others

’H[II

0% 10% 20% 30% 40% 50%

(}oﬁfréété are ﬁnifoﬁﬁ»and (éa-n;i-of be ch;fg‘ed -b-ased on negotiation

The said digital platform operators can change contract terms on a discretionary basis

Digital platform operators can stop providing their service on a discretionary basis

Even if the contract is between two domestic businesses, jurisdiction (such as exclusive court jurisdiction) is established overseas

There is no liability or limited liability for any interruption of services (including system failures) of ad tech services offered by the

said digital platform operators

1)
)]
H h)
")

)

Compensation for damage can only be claimed from the said digital platform operators (on a one-way basis)
Only the said digital platform operator can audit your company system (on a one-way basis)

Other (Select this option if there are contract items excluding the above a) to g) which you feel are an issue)
There are no issues or problematic provisions as seen above

We have never dealt with any of the said digital platform operators 18



Q9. (This question is for Ad Agencies or Advertisers who directly do business with digital platform
operators.) When directly doing business with digital platform operators, do contracts for ad tech
services offered by the said digital platform operator contain stipulations as seen below? [Multiple

answers accepted]

Answers Google Yahoo! Facebook Twitter LINE Others
Number of| Ratio (%) [Number of| Ratio (%) [Number of| Ratio (%) [Number of| Ratio (%) [Number of| Ratio (%) [Number of| Ratio (%)
answers answers answers answers answers answers

a) Contracts are uniform and cannot be changed based 33 34.0 28 28.9 28 28.9 26 26.8 25 25.8 16 25.4
on negotiation
b) The said digital platform operators can change 19 19.6 18 18.6 17| 17.5] 15 15.5] 14 14.4 12 19.0
contract terms on a discretionary basis
c) Digital platform operators can stop providing their 14 14.4 15 15.5 14 14.4 13| 13.4 12 124 13| 20.6
service on a discretionary basis
d) Even if the contract is between two domestic 10 10.3 2 21 8 8.2 6 6.2 2 21 4 6.3
businesses, jurisdiction (such as exclusive court
jurisdiction) is established overseas
e) There is no liability or limited liability for any 1 11.3 9 9.3 10 10.3 9 9.3 8 8.2 4 6.3
hnterruption of services (including system failures) of ad
ech services offered by the said digital platform
operators
f) Compensation for damage can only be claimed from 2 21 1 1.0 1 1.0 - - - - - -
the said digital platform operators (on a one-way basis)
g) Only the said digital platform operator can audit your - - - - - - - - - - - -
company system (on a one-way basis)
h) Other (Select this option if there are contract items 3 31 2 21 3 3.1 2 21 1 1.0 4 6.3
excluding the above a) to g) which you feel are an issue)
i) There are no issues or problematic provisions as seen 35 36.1 38 39.2 33 34.0 29 29.9 27 27.8 24 38.1
above
i) We have never dealt with any of the said digital 16| 16.5 17 17.5 25 25.8 31 32.0 36 371 9 14.3
platform operators

Number of respondents 97 - 97 - 97 - 97 - 97 - 63 -
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Q9-2. (For those who answered a) to h) at Q9) How does the contract impact your business activities?

[Select one]

30%

40%

0% 10% 20%

Google e ——

Vahoo T

Facebook

T2

LINE h—

Others _
|

M a) It had a serious impact
on business activities

d) There had been no impact
on business activities

M b) It had a moderate impact
on business activities

M e) Don’t know

on business activities

7 c) It had only a slight impact

Answers

Google

Yahoo!

Facebook

Twitter

LINE

Others

Number of | Ratio (%) | Number of | Ratio (%) | Number of | Ratio (%) | Number of | Ratio (%) | Number of | Ratio (%) | Number of | Ratio (%)
answers answers answers answers answers answers

a) It had a serious impact on 2 4.3 3 71 - - 1 2.9 1 3.3
business activities
b) It had a moderate impact on 5 10.9 3 71 3 7.7 2 5.4 3 8.8 3 10.0
business activities
c) It had only a slight impact on 13 28.3 1 26.2 11 28.2 11 29.7 1" 32.4 1 36.7|
business activities
d) There had been no impact on 17 37.0 16 38.1 14 35.9 15 40.5 13 38.2 13 43.3
business activities
e) Don’t know 9 19.6 9 21.4 1 28.2 9 24.3 6| 17.6 6 20.0

Number of respondents 46 100.0, 42 100.0| 39 100.0 37 100.0 34 100.0 34 100.0,
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Q11. When using the ad tech services provided by digital platform operators, did you experience any of
the following changes with transition to the said ad tech service system? [Multiple answers accepted]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90%

Google

Yahoo!

Facebook

Twitter

Others

i

¥ a) We struggled to correspond to the sudden system change
“ b) Reasons for the system change were not clearly stated
“c) Company wishes were not reflected in the system change
d) Other (Select this option if there are issues in system change excluding the above a) to

“e) There are no issues, and no problems as seen above 21



Q11. When using the ad tech services provided by digital platform operators, did you
experience any of the following changes with transition to the said ad tech service system?
[Multiple answers accepted]

Answers Google Yahoo! Facebook Twitter LINE Others
Number |Ratio (%)| Number [Ratio (%)| Number |Ratio (%)| Number [Ratio (%)| Number |Ratio (%)| Number |Ratio (%)
of of of of of of
answers answers answers answers answers answers
a) We struggled to correspond 31 36.5 16 19.3 20 26.3 17 24.3 12 18.8 8 14.0
to the sudden system change
b) Reasons for the system 17 20.0 6 7.2 14 18.4 8 1.4 6 9.4 4 7.0
change were not clearly stated
c) Company wishes were not 13 15.3 8 9.6 9 11.8 7 10.0 8 12.5 4 7.0
reflected in the system change
d) Other (Select this option if - - 1 1.2 - - - - 1 1.6 1 1.8
there are issues in system
change excluding the above a)
to c))
e) There are no issues, and no 46 541 60 72.3 50 65.8 48 68.6 43 67.2 46 80.7
problems as seen above
Number of respondents 85 - 83 - 76 - 70 - 64 - 57 -

22



Q11-2. (For those who answered a) to d) at Q11) How did this impact your business activities?
[Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

Google I
Yahoo! I e
Facebook NI e
Twitter =
LINE I e
others T e

M a) It had a serious impact M b) It had a moderate impact
on business activities on business activities
™ c) It had only a slight impact ~ d) There had been no impact
on business activities on business activities 23

& e) Don’t know



Q11-2. (For those who answered a) to d) at Q11) How did this impact your business activities?

[Select one]

Answers

Google Yahoo! Facebook Twitter LINE Others
Number| Ratio [Number| Ratio |Number| Ratio |Number| Ratio |Number| Ratio |Number| Ratio
of (%) of (%) of (%) of (%) of (%) of (%)
answers answers answers answers answers answers
a) It had a serious impact 2 5.1 1 4.3 1 3.8 1 4.5 2 9.5 1 9.1
on business activities
b) It had a moderate impact 17 43.6 1 47.8 12 46.2 1 50.0 9 42.9 5 45.5
on business activities
c) It had only a slight impact 14 35.9 7 304 7 26.9 6 27.3 6 28.6 2 18.2
on business activities
d) There had been no impact 4 10.3 2 8.7 4 15.4 3 13.6 2 9.5 2 18.2
on business activities
e) Don’t know 2 5.1 2 8.7 2 7.7 1 4.5 2 9.5 1 9.1
Number of respondents 39 100.0 23 100.0 26 100.0 22 100.0 21 100.0 11 100.0
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Q12. When using the ad tech services provided by digital platform operators, did you experience
any of the following? [Multiple answers accepted]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

Google _
Yahoo! =
—
Facebook =
—
Twitter -_
LINE _
—
|
Others ___
¥ a) Digital platform operators prohibited use of other third-party services
“ b) Staff from the digital platform operators told us not to use third-party services (Explicitly
or implicitly)
c) Consultation to digital platform operators was necessary when using a third-party
service that is not an ad tech service provided by them
d) There was no clear explanation on why an account was suspended
“e) Other (Select this option if there were issues in using third-party services excluding the

above a) to d))
“f) There were no issues, and no problems as seen above
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Q12. When using the ad tech services provided by digital platform operators, did you experience
any of the following? [Multiple answers accepted]

Answers Google Yahoo! Facebook Twitter LINE Others
Number | Ratio |Number| Ratio |[Number| Ratio |Number| Ratio |Number| Ratio |Number Ratio (%)
of (%) of (%) of (%) of (%) of (%) of
answers answers answers answers answers answers

a) Digital platform operators prohibited use of 6 7.0 2 24 1 1.3 1 1.4 1 1.6 1 1.8
other third-party services
b) Staff from the digital platform operators told 4 4.7 3 3.6 1 1.3 1 1.4 1 1.6 1 1.8
us not to use third-party services (Explicitly or
implicitly)
c) Consultation to digital platform operators - - 3 3.6 - - - - - - 1 1.8
was necessary when using a third-party
service that is not an ad tech service provided
by them
d) There was no clear explanation on why an 7 8.1 2 2.4 4 5.3 2 29 2 31 1 1.8
account was suspended
e) Other (Select this option if there were issues 1 1.2 2 24 1 1.3 2 2.9 1 1.6 2 3.5
in using third-party services excluding the
above a) to d) )
f) There were no issues, and no problems as 72 83.7 76 91.6 69 90.8 64 91.4 59 92.2 53 93.0
seen above

Number of respondents 86 - 83 - 76 - 70 - 64 - 57 -
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Q12-2. (For those who answered a) to e) at Q12) How did this impact your business activities?
[Select one]
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

Google I @I,
Yahoo! =
Facebook G S S S @@,
Twitter FEEEEEEEEEEEEEEEEEEEEErrrinS.
LINE i
OUTERE
M a) It had a serious impact on business activities & b) It had a moderate impact on business activities
I c) It had only a slight impact on business activities d) There had been no impact on business
activities
M e) Don’t know
Answers Google Yahoo! Facebook Twitter LINE Others
Number | Ratio (%) | Number | Ratio (%) | Number | Ratio (%)| Number |Ratio (%) | Number | Ratio (%) | Number | Ratio (%)
of of of of of of
answers answers answers answers answers answers

a) It had a serious impact on - - - - - - - - - - i .
business activities

b) It had a moderate impact on 6 42.9 6 85.7 4 571 3 50.0 3 60.0 2 66.7
business activities

c) It had only a slight impact on 5 35.7 - - 1 14.3 1 16.7 - - - -
business activities

d) There had been no impact on - - - - - - - - - - - .
business activities

e) Don’t know 3 21.4 1 14.3 2 28.6

N

33.3 2 40.0 1 33.3
100.0 5 100.0 3 100.0

2]

Number of respondents 14 100.0 7 100.0 7 100.0




Q13. When using the ad tech services provided by digital platform operators to distribute advertisements,
was there a case in which your company was not able to distribute advertisements in the wanted
inventory, despite bidding at a price your company believed was more than reasonable? [Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

oo |
Facebooi |
o |
g
otmers |

M a) Yes M b) No Il ¢) Don’t know

Answers Google Yahoo! Facebook Twitter LINE Others
Number| Ratio |Number| Ratio |Number| Ratio |[Number| Ratio |Number| Ratio |Number| Ratio
of (%) of (%) of (%) of (%) of (%) of (%)
answers answers answers answers answers answers
a) Yes 16 18.6 12 14.3 9 11.7 10 14.3 9 13.8 9 15.5
b) No 37 43.0 38 45.2 37 48.1 32 45.7 32 49.2 32 55.2
c) Don’t know 33 38.4 34 40.5 31 40.3 28 40.0 24 36.9 17 29.3
Number of respondents 86 100.0 84 100.0 77 100.0 70 100.0 65 100.0 58 100.0 28




Q13-1. (For those who answered “a) Yes” at Q13) Was there an explanation from the said digital
platform operator on why the advertisement was not distributed? [Select one]

0% 10% 20%

30% 40% 50%

60%

70% 80%

90%

100%

Google I
Yahoo! N e
Facebook N
Twitter e
LINE B
others e

M a) Yes M b) No

Answers Google Yahoo! Facebook Twitter LINE Others
Number| Ratio |Number| Ratio |Number| Ratio [Number| Ratio |Number| Ratio [Number| Ratio

of (%) of (%) of (%) of (%) of (%) of (%)

answers answers answers answers answers answers

a) Yes 4 25.0 3 25.0 3 33.3 4 40.0 3 33.3 5 55.6
b) No 12 75.0 9 75.0 6 66.7 6 60.0 6 66.7 4 44.4
Number of respondents 16 100.0 12 100.0 9 100.0 10 100.0 9 100.0 9 100.0
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Q13-1-1. (For those who answered “a) Yes” at Q13-1) Was your company satisfied with
the explanation? [Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

Goog e |

Yahoo! [
Facebook [
Twitter |
-
others IS
M a) Yes M b) No

Answers Google Yahoo! Facebook Twitter LINE Others
Number| Ratio |Number| Ratio |Number| Ratio |Number| Ratio |Number| Ratio |Number| Ratio

of (%) of (%) of (%) of (%) of (%) of (%)

answers answers answers answers answers answers

a) Yes 4 100.0 3  100.0 3 100.0 4 100.0 3] 100.0 4 80.0
b) No - - - - - - - - - - 1 20.0
Number of respondents 4 100.0 3] 100.0 3] 100.0 4 100.0 3| 100.0 5 100.0




Q13-3. (For those who answered “a) Yes” at Q13) How did being unable to distribute advertisements
impact your business activities? [Select one] (*If there were multiple cases, answer the one case that
had the most impact on your company.)

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

Google HEEEENT————— _
Yahoo! |
Facebook i |
Twitter e
LINE BT I
Orthers 1 I
M a) It had a serious impact on business activities ™ b) It had a moderate impact on business activities
I c¢) It had only a slight impact on business activities d) There had been no impact on business
activities
M e) Don’t know
Answers Google Yahoo! Facebook Twitter LINE Others
Number |Ratio (%) | Number |Ratio (%) | Number |Ratio (%) | Number |Ratio (%)| Number |Ratio (%)| Number |Ratio (%)
of of of of of of
answers answers answers answers answers answers
a) It had a serious impact on 2 12.5 - - - - - - 1 111 - -
business activities
b) It had a moderate impact on 7 43.8 4 33.3 4 44.4 5 50.0 5 55.6 4 44.4
business activities
c) It had only a slight impact on 3 18.8 3 25.0 2 22.2 4 40.0 1 111 2 22.2
business activities
d) There had been no impact on 2 12.5 2 16.7 1 1.1 1 10.0 1 111 2 22.2
business activities
e) Don’t know 2 12.5 3 25.0 2 22.2 - - 1 11.1 1 11.1
Number of respondents 16 100.0 12 100.0 9 100.0 10 100.0 9 100.0 9 100.0 31




Q14. When an inventory auction is conducted in ad exchanges provided by digital platform operators,
have you felt that the said digital platform operators have a grasp on bidding price of other bidders
beforehand and use this information in these auctions? [Select one]

0%  10%  20%  30%  40%  50%  60%  70%  80%  90%  100%
Google NI
Yahoo! I
Facebook EIII
Twitter IR
LINE I
Others I

¥ a) Yes

“'b) No

“ c) Don’t know

~ d) We have never used the ad exchange provided by the said digital platform operators
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Q14. When an inventory auction is conducted for ad exchanges provided by digital platform operators,
have you felt that the said digital platform operators have a grasp on bidding price of other bidders
beforehand and use this information in these auctions? [Select one]

Answers Google Yahoo! Facebook Twitter LINE Others
Number| Ratio |Number| Ratio [Number| Ratio [Number| Ratio [Number| Ratio |[Number| Ratio
of (%) of (%) of (%) of (%) of (%) of (%)

answers answers answers answers answers answers

a) Yes 1 1.2 1 1.2 1 1.3 1 1.4 1 1.5 2 3.5

b) No 28 32.6 27 321 27 35.1 26 371 22 33.8 17 29.8

c) Don’t know 46 53.5 47 56.0 41 53.2 34 48.6 34 52.3 27 47.4

d) We have never used the 11 12.8 9 10.7 8 10.4 9 12.9 8 12.3 11 19.3

ad exchange provided by

the said digital platform

operators

Number of respondents 86, 100.0 84/ 100.0 77|  100.0 70, 100.0 65 100.0 57/ 100.0
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Q14-2. (For those who answered “a) Yes” at Q14) Did your company suffer disadvantages
due to this activity? [Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90%  100%
Google [
Yahoo! [
Facebook [
Twitter F
LINE EEe
Others [

M a) There were major disadvantages M b) There were moderate disadvantages ¥ ¢) There were almost no
disadvantages
d) There were no disadvantages M e) Don’t know
Answers Google Yahoo! Facebook Twitter LINE Others
Number| Ratio [Number| Ratio [Number| Ratio |[Number| Ratio |Number| Ratio |[Number| Ratio
of (%) of (%) of (%) of (%) of (%) of (%)
answers answers answers answers answers answers
a) There were major - - - - - - - - - - - -
disadvantages
b) There were moderate - - - - - - - - 1 100.0 2 100.0
disadvantages
c) There were almost no 1 100.0 1 100.0 1 100.0 1 100.0 - - - -
disadvantages
d) There were no - - - - - - - - - - - -
disadvantages
e) Don’t know - - - - - - - - - - - - 34
Number of respondents 1 100.0 1 100.0 1 100.0 1 100.0 1 100.0 2, 100.0




Q15. When using the ad tech services provided by digital platform operators to distribute advertisements,
were there any issues in advertisement display results (example: the display order for search advertising,
or display location for display advertising)? If there were issues, what were the issues? Please select
from the following. [Multiple answers accepted]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90%
—
Google
—
Yahoo!
|
Facebook
|
Twitter
|
LINE
|
Others
¥ a) The standards of the display order or location are unclear
“ b) Other businesses received more favorable treatment than we did, without any rational
reason
c) Our advertisements were not displayed in prominent locations or orders, despite our

company paying a large amount of advertising expenses

d) Other (Select this option if there are issues in advertisement displays excluding the
above a) to c))

“e) There are no issues, and no problems as seen above 35



Q15. When using the ad tech services provided by digital platform operators to distribute
advertisements, were there any issues in advertisement display results (example: the display order for
search advertising, or display location for display advertising). If there were issues, what were the
issues? Please select from the following. [Multiple answers accepted]

Answers Google Yahoo! Facebook Twitter LINE Others
Number | Ratio |Number| Ratio |Number| Ratio |Number| Ratio |Number| Ratio |Number| Ratio
of (%) of (%) of (%) of (%) of (%) of (%)
answers answers answers answers answers answers

a) The standards of the display 24 27.9 22 26.2 15 19.5 1 15.7 13 20.0 9 15.8
order or location are unclear
b) Other businesses received more 3 3.5 1 1.2 - - - - - - - -
favorable treatment than we did,
without any rational reason
c) Our advertisements were not 5 5.8 4 4.8 2 2.6 2 29 2 31 2 3.5
displayed in prominent locations
or orders, despite our company
paying a large amount of
advertising expenses
d) Other (Select this option if there 5 5.8 4 4.8 1 1.3 1 1.4 1 1.5 2 3.5
are issues in advertisement
displays excluding the above a) to
c))
e) There are no issues, and no 60 69.8 58 69.0 62 80.5 59 84.3 52 80.0 48 84.2
problems as seen above

Number of respondents 86 - 84 - 77 - 70 - 65 - 57 -
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Q15-3. (For those who answered a) to d) at Q15) To what extent these issues in advertisement display
impact your business activities? [Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

Google ST/ T T R RS
Yahoo! NN I,
Facebook NN |
Twitter BN I
LINE BT |
Others |
M a) It had a serious impact on business activities M b) It had a moderate impact on business activities
Il ¢) It had only a slight impact on business activities d) There had been no impact on business
activities
M e) Don’t know
Answers Google Yahoo! Facebook Twitter LINE Others
Number |Ratio (%)| Number |Ratio (%)| Number |Ratio (%)| Number |Ratio (%)| Number |Ratio (%)| Number |Ratio (%)
of of of of of of
answers answers answers answers answers answers
a) It had a serious impact on 3 11.5 3 11.5 1 6.7 1 9.1 1 7.7 -
business activities
b) It had a moderate impact on 8 30.8 5 19.2 3 20.0 2 18.2 3 231 2 22.2
business activities
c) It had only a slight impact on 8 30.8 10 38.5 5 33.3 4 36.4 4 30.8 3 33.3
business activities
d) There had been no impact 1 3.8 1 3.8 1 6.7 1 9.1 1 7.7 1 111
on business activities
e) Don’t know 6 231 7 26.9 5 33.3 3 27.3 4 30.8 3 33.3
Number of respondents 26 100.0 26 100.0 15 100.0 1 100.0 13 100.0 9 100.0 37




Q16. How do you feel about the information disclosed from the said digital platform operators
when using ad tech services to distribute advertisements? Please select from the following.
[Multiple answers accepted]

0% 10% 20% 30% 40% 50% 60% 70% 80%
s —
Google :
R
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e
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- e
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-
LINE o s
[
]
Others s —
—
|
¥ a) Because there was a lack of disclosure on information related to bidding results, it cannot be taken into consideration in the
following bidding as a precedent
" b) There was a lack of disclosure on ad fraud, making verification impossible
c) There was a lack of disclosure on audience data, making applying information to optimize advertisement budgets impossible
d) There was a lack of information disclosure on related publishers to which advertisements are distributed, which compromises efforts
made to ensure safety (brand safety) from risks when displayed in media, which may damage brand values
He) There was a lack of disclosure information related to viewability (whether advertisements are actually seen by users), which deters
verification of advertisement efficiency
" f) There was no detailed breakdown of the fees paid to the said digital platform operators
®g) Even if disclosed information was adequate, the interface provided by the said digital platform operator was too complex, making it
difficult to use necessary information
® h) Other (Select this option if you feel there were issues in information disclosure excluding the above a) to g) )
38
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Q16. How do you feel about the information disclosed from the said digital platform operators
when using ad tech services to distribute advertisements? Please select from the following.

[Multiple answers accepted]

Answers Google Yahoo! Facebook Twitter LINE Others
Number |Ratio (%)| Number |Ratio (%)| Number [Ratio (%)| Number [Ratio (%)| Number |Ratio (%)| Number |Ratio (%)
of of of of of of
answers answers answers answers answers answers

a) There was a lack of disclosure on information related to bidding 12 141 13 15.7 9 11.7 1 15.7 9 13.8 5 8.8
results, making applying information to future bidding impossible
b) There was a lack of disclosure on ad fraud, making verification 22 25.9 20 241 13 16.9 10 14.3 12 18.5 5 8.8
impossible
c) There was a lack of disclosure on audience data, making 17 20.0 15| 18.1 8 10.4 10 14.3 10 15.4 5 8.8
applying information to optimize advertisement budgets
impossible
d) There was a lack of information disclosure on related publishers 23 271 13| 15.7 5 6.5 7 10.0 4 6.2 3 5.3
to which advertisements are distributed, which compromises
efforts made to ensure safety (brand safety) from risks when
displayed in media, which may damage brand values
e) There was a lack of disclosure information related to viewability 22 25.9 17 20.5] 10 13.0 10 14.3 1 16.9 8 14.0
(whether advertisements are actually seen by users), which deters
verification of advertisement efficiency
f) There was no detailed breakdown of the fees paid to the said 10 11.8 8 9.6 4 5.2 4 5.7 5 7.7 2 3.5
digital platform operators
g) Even if disclosed information was adequate, the interface 8 9.4 8 9.6 5 6.5 5 71 6) 9.2 3 5.3
provided by the said digital platform operator was too complex,
making it difficult to use necessary information
h) Other (Select this option if you feel there were issues in 2 2.4 1 1.2 3 3.9 1 1.4 2 3.1 - -
information disclosure excluding the above a) to g) )
i) We do not have complaints 44 51.8 48 57.8 47 61.0 43 61.4 35 53.8 42 73.7

Number of respondents 85 - 83 - 77 - 70 - 65 - 57 -
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Q16-2. (For those who answered a) to h) at Q16) Did your company suffer disadvantages due to this?
[Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
Google NN ]
Yahoo! EET L e

Facebook NI |
Twitter BT I
LINE BT e I
Others IEET—— |
M a) There were major disadvantages M b) There were moderate disadvantages ¥ c¢) There were almost no
disadvantages
d) There were no disadvantages M e) Don’t know
Answers Google Yahoo! Facebook Twitter LINE Others
Number| Ratio [Number| Ratio |Number| Ratio |[Number| Ratio [Number| Ratio |Number| Ratio
of (%) of (%) of (%) of (%) of (%) of (%)
answers answers answers answers answers answers
a) There were major 3 71 2 5.6 1 3.3 1 3.7 1 3.3 - -
disadvantages
b) There were moderate 18 429 16 44.4 12 40.0 11 40.7 11 36.7 5 333
disadvantages
c) There were almost no 9 21.4 7 19.4 6 20.0 7 259 9 30.0 4 26.7
disadvantages
d) There were no 4 9.5 1 238 2 6.7 2 7.4 3 10.0 2 13.3
disadvantages
e) Don’t know 8 19.0 10 27.8 9 30.0 6 222 6 20.0 4 26.7
Number of respondents 42 100.0 36 100.0 30, 100.0 27/ 100.0 300 100.0 15| 100.0




Q17. What are your feelings about the transparency of supply chains (overall connections from
advertisers to publishers) of ad tech services provided by digital platform operators which are
in use in your company? Please select from the following. [Multiple answers accepted]

0% 10% 20% 30% 40% 50% 60% 70%
.
Google
—
Yahoo! | T
—
Facebook ' .
T ——
T
;
Others
¥ a) There is a need to heighten transparency for business transactions and fees
“b) There is a need to heighten transparency for commission and costs
“c) There is a need to heighten transparency for pages and media publishing advertisements
d) There is a need to heighten transparency for data-related factors
e) Other (Select this option if you feel there are issues in supply chain transparency excluding the
above a) to d) )
= f) We do not have complaints

80%

41



Q17. What are your feelings about the transparency of supply chains (overall connections from
advertisers to publishers) of ad tech services provided by digital platform operators used by
your company? Please select from the following. [Multiple answers accepted]

Answers Google Yahoo! Facebook Twitter LINE Others

Number| Ratio [Number| Ratio |[Number| Ratio |Number| Ratio |Number| Ratio |Number| Ratio

of (%) of (%) of (%) of (%) of (%) of (%)
answers answers answers answers answers answers
a) There is a need to heighten transparency 200 233 200 23.8 17 224 15 21.7 15 234 6| 10.5
for business transactions and fees
b) There is a need to heighten transparency 23| 26.7 19 22.6 17 224 16 23.2 13] 20.3 4 7.0

for commission and costs

c) There is a need to heighten transparency 31 36.0 26/ 31.0 18] 23.7 16 23.2 14, 21.9 16| 28.1
for pages and media publishing
advertisements

d) There is a need to heighten transparency 21 244 19 22.6 15 19.7 14, 20.3 120 18.8 6| 10.5
for data-related factors

e) Other (Select this option if you feel there 1 1.2 1 1.2 - - - - - - - -
are issues in supply chain transparency
excluding the above a) to d) .)

f) We do not have complaints 41 47.7 45 53.6 42 553 38 55.1 36| 56.3 39 68.4

Number of respondents 86 - 84 - 76 - 69 - 64 - 57 -
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Q17-2. (For those who answered a) to e) at Q17) Did your company suffer disadvantages due to this?
[Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
Google W ———
Yahoo! T —
Facebook I
Twitter I ——
LINE I
Others [

M a) There were major disadvantages [ b) There were moderate disadvantages
" ¢) There were almost no disadvantages - d) There were no disadvantages
M e) Don’t know
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Q17-2. (For those who answered a) to e) at Q17) Did your company suffer disadvantages due to this?

[Select one]

Answers Google Yahoo! Facebook Twitter LINE Others
Number| Ratio [Number| Ratio |Number| Ratio |[Number| Ratio [Number| Ratio |Number| Ratio
of (%) of (%) of (%) of (%) of (%) of (%)

answers answers answers answers answers answers

a) There were major 2 4.5 2 5.3 1 29 1 3.2 1 3.6 - -

disadvantages

b) There were moderate 15 34.1 12 31.6 10 294 9 29.0 9 321 6 33.3

disadvantages

c) There were almost no 10 22,7 10 26.3 8 23.5 7 22.6 7 25.0 3 16.7

disadvantages

d) There were no 3 6.8 1 2.6 2 5.9 4 12.9 1 3.6 2 11.1

disadvantages

e) Don’t know 14 31.8 13 34.2 13 38.2 10 32.3 10 35.7 7 38.9

Number of respondents 44 100.0 38 100.0 34 100.0 31 100.0 28 100.0 18/ 100.0
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Q18. What are your feelings about the viewability (whether advertisements are actually seen by users)
of ad tech services provided by digital platform operators used by your company? Please select from
the following. [Multiple answers accepted]

0% 10% 20% 30% 40% 50% 60% 70%
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_________________________________________________________________________________________________________________________________________________|
¥ a) There was no accurate monitoring of viewability levels
" b) There was no regular information disclosure of viewability levels
“c) Viewability did not reach our desired levels
d) Japan'’s level of viewability is low when compared to overseas countries
"e) There should be third-party verification/measurements of viewability levels
= f) Other (Select this option if you feel there are issues in viewability excluding the above a)
toe))
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Q18. What are your feelings about the viewability (whether advertisements are actually seen by users)
of ad tech services provided by digital platform operators used by your company? Please select from

the following. [Multiple answers accepted]

Answers Google Yahoo! Facebook Twitter LINE Others
Number of| Ratio (%) [Number of| Ratio (%) |Number of| Ratio (%) [Number of{ Ratio (%) [Number of| Ratio (%) [Number of| Ratio (%)
answers answers answers answers answers answers

a) There was no accurate 21 24.7 20 241 11 14.3 1 15.7 1 16.9 8 13.8
monitoring of viewability levels
b) There was no regular 26 30.6 23 27.7 17 221 16 229 15 231 12 20.7
information disclosure of
viewability levels
c) Viewability did not reach our 6 71 4 4.8 3 3.9 3 4.3 4 6.2 3 5.2
desired levels
d) Japan’s level of viewability is 4 4.7 2 24 3 3.9 3 4.3 2 31 2 3.4
low when compared to overseas
countries
e) There should be third-party 30 35.3 28 33.7 22 28.6 19 271 21 323 14 241
verification/measurements of
viewability levels
f) Other (Select this option if you 1 1.2 1 1.2 1 1.3 1 1.4 1 1.5 - -
feel there are issues in viewability
excluding the above a) to e) .)
g) We do not have complaints 38 44.7 40 48.2 38 49.4 34 48.6 30 46.2 34 58.6

Number of respondents 85 - 83 - 77 - 70 - 65 - 58 -
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Q18-2. (For those who answered a) to f) at Q18) Did your company suffer disadvantages due to this?
[Select one]
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

Google EENTIIE - ]
Yahoo! EEETII - ]
Facebook I I
Twitter BT ]
LINE BN .
Others I e
M a) There were major disadvantages M b) There were moderate disadvantages % ¢) There were almost no
disadvantages
d) There were no disadvantages M e) Don’t know
Answers Google Yahoo! Facebook Twitter LINE Others
Number |Ratio (%)| Number |Ratio (%)| Number |Ratio (%)| Number |Ratio (%)| Number |Ratio (%)| Number |Ratio (%)
of of of of of of
answers answers answers answers answers answers
a) There were major 3 6.3 3 6.8 3 7.7 3 8.3 3 8.6 1 4.2
disadvantages
b) There were moderate 16 33.3 13 29.5 10 25.6 8 22.2 6 171 3 12.5
disadvantages
c) There were almost no 8 16.7 9 20.5 7 17.9 7 19.4 8 229 5 20.8
disadvantages
d) There were no disadvantages 4 8.3 4 9.1 4 10.3 4 1.1 5 14.3 3 12.5
e) Don’t know 17 35.4 15 341 15 38.5 14 38.9 13 371 12 50.0
Number of respondents 48 100.0 44 100.0 39 100.0 36 100.0 35 100.0 24 100.0 47




Q19. What are your feelings about measures taken against ad fraud (generation of invalid impressions
and clicks generated by bots to earn unjust ad income) by ad tech services provided by digital platform
operators used by your company? Please select from the following. [Multiple answers accepted]

0% 10% 20% 30% 40% 50% 60% 70%
Google o e —
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¥ a) There was a lack of information disclosure on ad fraud

" b) There was insufficient verification of traffic to uncover ad fraud
c) There was lack of preventive measures for ad fraud
d) Swift refunds were not made when ad fraud is discovered

"e) Digital platform operators should refund fees related to invalid traffic

= f) Other (Select this option if you feel there were issues in ad fraud excluding the above a)
toe))

" 9) We do not have complaints 48
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Q19. What are your feelings about measures taken against ad fraud (generation of invalid impressions
and clicks generated by bots to earn unjust ad income) by ad tech services provided by digital platform
operators used by your company? Please select from the following. [Multiple answers accepted]

Answers Google Yahoo! Facebook Twitter LINE Others
Number |Ratio (%)| Number [Ratio (%)| Number |Ratio (%)| Number |Ratio (%)| Number |Ratio (%)| Number |Ratio (%)
of of of of of of
answers answers answers answers answers answers

a) There was a lack of 31 36.0 30 35.7 24 31.2 20 28.6 16 24.6 9 15.8
information disclosure on ad
fraud
b) There was insufficient 18 20.9 18 21.4 12 15.6 12 171 10 15.4 5 8.8
verification of traffic to uncover
ad fraud
c) There was lack of preventive 19 221 18 214 10 13.0 9 12.9 9 13.8 2 3.5
measures for ad fraud
d) Swift refunds were not made 6 7.0 5 6.0 3 3.9 3 4.3 4 6.2 2 3.5
when ad fraud is discovered
e) Digital platform operators 21 244 21 25.0 17 22.1 16 22.9 13 20.0 9 15.8
should refund fees related to
invalid traffic
f) Other (Select this option if 1 1.2 - - - - - - - - - -
you feel there were issues in ad
fraud excluding the above a) to
e))
g) We do not have complaints 35 40.7 36 42.9 39 50.6 37 52.9 36 55.4 41 71.9

Number of respondents 86 - 84 - 77 - 70 - 65 - 57 -
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Q19-2. (For those who answered a) to f) at Q19) Did your company suffer disadvantages due to this?
[Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
Google NN e
Yahoo! NN e
Facebook NN
Twitter IR
LINE B e
Others T e

M a) There were major disadvantages M b) There were moderate disadvantages I c¢) There were almost no
disadvantages
d) There were no disadvantages M e) Don’t know
Answers Google Yahoo! Facebook Twitter LINE Others
Number| Ratio |[Number| Ratio |Number| Ratio [Number| Ratio [Number| Ratio |Number| Ratio
of (%) of (%) of (%) of (%) of (%) of (%)
answers answers answers answers answers answers
a) There were major 6 11.8 6 12.5 5 13.2 4 12.1 4 13.8 1 6.3
disadvantages
b) There were moderate 17 33.3 15 31.3 1 28.9 1 33.3 10 34.5 6 37.5
disadvantages
c) There were almost no 8 15.7 7 14.6 6 15.8 5 15.2 3 10.3 2 12.5
disadvantages
d) There were no 1 2.0 - - - - - - - - - -
disadvantages
e) Don’t know 19 373 20 4.7 16 42.1 13 394 12 41.4 7 43.8
Number of respondents 51 100.0 48  100.0 38/ 100.0 33| 100.0 29/ 100.0 16 100.0




Q20. When using ad tech services provided by digital platform operators, were there any limitations

imposed by the said digital platform operators, in access to necessary data (e.g., data to be used for

advertisement efficiency verification) for advertisement distribution (or agency businesses for ad

agencies) ? [Select one]
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M a) Yes M b)No

™ c) Don’t know

Answers

Google Yahoo! Facebook Twitter LINE Others
Number| Ratio |Number| Ratio |Number| Ratio |Number| Ratio |Number| Ratio |Number| Ratio
of (%) of (%) of (%) of (%) of (%) of (%)
answers answers answers answers answers answers
a) Yes 3 3.5 2 2.4 1 1.3 1 14 1 1.5 1 1.8
b) No 49 57.0 47 56.0 46 59.7 43 61.4 41 63.1 36 63.2
c) Don’t know 34 39.5 35 1.7 30 39.0 26 371 23 35.4 20 35.1
Number of respondents 86 100.0 84 100.0 77 100.0 70 100.0 65 100.0 57 100.0
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Q20-2. (For those who answered “a) Yes” at Q20) How did this impact your business activities? [Select
one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

Google T IR,
Yahoo! i iiiiiiiiiamIahh.
Facebook e
Twitter T
LINE
Others " e
M a) It had a serious impact on business activities I b) It had a moderate impact on business activities
I c) It had only a slight impact on business activities d) There had been no impact on business
activities
M e) Don’t know
Answers Google Yahoo! Facebook Twitter LINE Others
Number |Ratio (%)| Number Ratio (%)| Number |Ratio (%)| Number |Ratio (%)| Number |Ratio (%)| Number |Ratio (%)
of of of of of of
answers answers answers answers answers answers
a) It had a serious impact on - - - - - - - - - - - -
business activities
b) It had a moderate impact on 1 33.3 - - - - - - - - - -
business activities
c) It had only a slight impact on 1 33.3 1 50.0 1 100.0 1 100.0 1 100.0 1 100.0
business activities
d) There had been no impact on - - - - - - - - - - - -
business activities
e) Don’t know 1 33.3 1 50.0 - - - - - - - -
Number of respondents 3 100.0 2 100.0 1 100.0 1 100.0 1 100.0 1 100.0 52




Q21. Have you ever felt dissatisfied with review standards when opening an account to use ad tech
services provided by digital platform operators? (This includes accounts reviewed midway as well)
[Multiple answers accepted]
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¥ a) Although review standards are disclosed, the standards are abstract and lack objectivity
“b) Review standards are not fully disclosed and lack transparency
c) We feel the actual reviews are not done according to the disclosed standards
d) The reviews are prejudiced and lack consistency
“e) Other (Select this option if there are issues in account review standards excluding the above a) to d))
=f) Don’t know
®9) We do not have complaints
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Q21. Have you ever felt dissatisfied with review standards when opening an account to use ad tech
services provided by digital platform operators? (This includes accounts reviewed midway as well)
[Multiple answers accepted]

Answers Google Yahoo! Facebook Twitter LINE Others
Number Ratio (%)| Number |Ratio (%)| Number |Ratio (%)| Number |Ratio (%)| Number |Ratio (%)| Number |Ratio (%)
of of of of of of
answers answers answers answers answers answers

a) Although review standards are 12 14.0 11 131 6 7.8 3 4.3 6 9.2 3 5.3
disclosed, the standards are abstract
and lack objectivity
b) Review standards are not fully 12 14.0 10 11.9 8 10.4 5 7.2 4 6.2 3 5.3
disclosed and lack transparency
c) We feel the actual reviews are not 4 4.7 4 4.8 1 1.3 2 29 1 1.5 2 3.5
done according to the disclosed
standards
d) The reviews are prejudiced and lack 3 3.5 4 4.8 2 2.6 2 29 3 4.6 5 8.8
consistency
e) Other (Select this option if there are 3 3.5 2 2.4 2 2.6 2 29 1 1.5 - -
issues in account review standards
excluding the above a) to d))
f) Don’t know 17 19.8 18 21.4 15 19.5 14 20.3 15 23.1 10 17.5
g) We do not have complaints 44 51.2 46 54.8 48 62.3 44 63.8 39 60.0 38 66.7

Number of respondents 86 - 84 - 77 - 69 - 65| - 57 -
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Q21-2. (For those who answered a) to e) at Q21) How did this impact your business activities?
[Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

Google I I
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LINE
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M a) It had a serious impact on business activities M b) It had a moderate impact on business activities
7 c) It had only a slight impact on business activities d) There had been no impact on business activities
M e) Don’t know

Answers Google Yahoo! Facebook Twitter LINE Others
Number| Ratio |[Number| Ratio |Number| Ratio |Number| Ratio |Number| Ratio |[Number| Ratio
of (%) of (%) of (%) of (%) of (%) of (%)

answers answers answers answers answers answers

a) It had a serious impact on 3 12.0 3 15.0 - - - - - - 2 25.0

business activities

b) It had a moderate impact 8 32.0 7 35.0 6 42.9 6 54.5 8 72.7 2 25.0

on business activities

c) It had only a slight impact 9 36.0 5 25.0 6 429 5 45.5 3 27.3 3 37.5

on business activities

d) There had been no impact 2 8.0 2 10.0 1 71 - - - - 1 12.5

on business activities

e) Don’t know 3 12.0 3 15.0 1 71 - - - - - -

Number of respondents 25 100.0 20 100.0 14 100.0 1 100.0 1 100.0 8 100.0 55




Q22. What are the reasons your company conducts direct business transactions with your current
digital platform operator? Please select from the following. [Multiple answers accepted]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90%

a) It possesses media that many consumers are attracted to and use their
time to view (such as search sites, social media, video streaming website)

b) The publisher network which advertisements are distributed to
(number of consumers reached)

c) Targeting accuracy which has been enhanced with a vast amount of data

d) Convenient services conducted by integration of
multiple ad tech services

e) Ad tech technologies such as for real-time bidding
f) Connectivity of ad servers used by our company
g) Valid verification of advertisement effects

h) User-friendly interface

i) Ability to appeal to advertisers with the factors listed above

j) Other (Select this option if you feel there are reasons to do business
excluding the above a) to i) )

k) There is no particular reason
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Q22. What are the reasons your company conducts direct business transactions with your current
digital platform operator? Please select from the following. [Multiple answers accepted]

Answers Number of Ratio (%)
answers

a) It possesses media that many consumers are attracted to and use their time to view (such as search sites, social 68 791
media, video streaming website)
b) The publisher network which advertisements are distributed to (number of consumers reached) 61 70.9
c) Targeting accuracy which has been enhanced with a vast amount of data 56 65.1
d) Convenient services conducted by integration of multiple ad tech services 31 36.0
e) Ad tech technologies such as for real-time bidding 20 23.3
f) Connectivity of ad servers used by our company 3 3.5
g) Valid verification of advertisement effects 39 45.3
h) User-friendly interface 15 17.4
i) Ability to appeal to advertisers with the factors listed above 14 16.3
i) Other (Select this option if you feel there are reasons to do business excluding the above a) to i) ) 5 5.8
k) There is no particular reason 8 9.3

Number of respondents 86 -
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Q23. Currently, in the digital advertising market, there seems to be a certain movement (vertical
integration); digital platform operators manage powerful mediums while distributing advertisements
(matching) using ad tech in the backdrop of the said media’s power. Do you have any concerns about
this progression of vertical integration? If so, what concerns do you have? Please select from the
following. [Multiple answers accepted] 0% 10% 20% 30% 0% 50%

a) Digital platform operators select media to their advantage for
ad tech services (advertisement distribution) provided by them

b) Digital platform operators limit distribution of their media unless it is via
their own ad tech services

c) Conditions for competition are unfair for other digital platform operators,
as when advertisement matching is conducted, it is required to connect to
other matching platforms after bidding is decided at their own platform

d) As vertical integration occurs, representation of both advertisers and
publishers progresses to trigger conflict of interests for the mediation
function matching advertisers and media

e) For ad tech in contract with publishers, digital platform operators that
provide the said ad tech include conditions that interfere
with ad tech use provided by competitors

f) APl access between competitor companies are unjustly shut down,
causing data to be fenced in by a digital platform operator

g) Other (Select this option if you feel there are concerns
excluding the above a) to f) )

h) There is no particular concern
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Q23. Currently, in the digital advertising market, there seems to be a movement (vertical integration) in
which digital platform operators manage powerful mediums while distributing advertisements
(matching) using ad tech in the backdrop of the said media’s power. Do you have any concerns about
this progression of vertical integration? If so, what concerns do you have? Please select from the
following. [Multiple answers accepted]

Answers Number of Ratio (%)
answers
a) Digital platform operators select media to their advantage for ad tech services (advertisement distribution) provided 35 40.2
by them
b) Digital platform operators limit distribution of their media unless it is via their own ad tech services 24 27.6
c) Conditions for competition are unfair for other digital platform operators, as when advertisement matching is 20 23.0

conducted, it is required to connect to other matching platforms after bidding is decided at their own platform

d) As vertical integration occurs, representation of both advertisers and publishers progresses to trigger conflict of 16 18.4
interests for the mediation function matching advertisers and media

e) For ad tech in contract with publishers, digital platform operators that provide the said ad tech include conditions 9 10.3
that interfere with ad tech use provided by competitors

f) APl access between competitor companies are unjustly shut down, causing data to be fenced in by a digital platform 15 17.2

operator

g) Other (Select this option if you feel there are concerns excluding the above a) to f) ) 1 1.1

h) There is no particular concern 39 44.8
Number of respondents 87 -
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Q24. When using ad tech services provided by digital platform operators, do you have a grasp on what type
of data you provide to them, or what type of data is provided from them? [Select one]

0% 10% 20% 30% 40% 50%

a) We know what data we provide and being provided
by them

b) We know what data we provide, but we do not have
a grasp on what data is provided by them

c) We know what data is provided by them, but we do not
have a grasp on what data we are providing

d) We do not know what data we provide and are provided

by them
Answers Number of Ratio (%)
answers

a) We know what data we provide and being provided by them 29 31.9
b) We know what data we provide, but we do not have a grasp on what data is provided by them 7 7.7
c) We know what data is provided by them, but we do not have a grasp on what data we are 12 13.2
providing
d) We do not know what data we provide and are provided by them 43 47.3

Number of respondents 91 100.0
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Q24-3. (For those who answered “a) We know what data we provide and are being provided by them” at

Q24) Are you satisfied with the data provided by the digital platform operation when compared to the
data you provide to them? [Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

Google NN
Yahoo! NN TSI
Facebook NN e
Twitter N e,
LINE BT,
Others N
M a) We are very satisfied M b) We are moderately satisfied I c) We are not very
satisfied
d) We are not satisfied at all M e) Don’t know
Answers Google Yahoo! Facebook Twitter LINE Others
Number [Ratio (%) Number |Ratio (%)| Number [Ratio (%) Number |Ratio (%) Number [Ratio (%) Number |Ratio (%)
of of of of of of
answers answers answers answers answers answers
a) We are very satisfied 7 25.9 5 18.5 5 20.8 3 14.3 3 14.3 2 10.0
b) We are moderately 17 63.0 18 66.7 10 41.7 11 52.4 10 47.6 9 45.0
satisfied
c) We are not very satisfied - - 1 3.7 4 16.7 3 14.3 3 14.3 3 15.0
d) We are not satisfied at all - - - - - - - - - - -
e) Don’t know 3 11.1 3 11.1 5 20.8 4 19.0 5 23.8 6 30.0
Number of respondents 27 100.0 27 100.0 24 100.0 21 100.0 21 100.0 20 100.0 61




Q25. (For those to answered a) or b) for at least one question out of Q9-2, Q11-2, Q12-2, Q13-3, Q14-2, Q15-3, Q16-2, Q17-2,

Q18-2, Q19-2, Q20-2, and Q21-2) This question is for companies who answered they have a certain amount of disadvantageous

effects due to actions taken by digital platform operators. Do you believe your company has no choice but to use ad tech

services offered by digital platform operators? If so, please select the reasons from the following. [Multiple answers accepted]

0%

10% 20% 30% 40% 50%

Google

Yahoo!

Facebook

Twitter

LINE

Others

Ia)
5 b)
" ¢)

d)

" g)
If)
®g)
.h)

Il

There are no other ad tech service providers except the ad tech service provider in question

The human and financial burden of transitioning to another ad tech service is too large

The accumulated data (such as transaction data) of the said ad tech service is necessary for business

Using the ad tech services in question is effective in order to reach more consumers in the current society, in which
digitalization has been progressing

The ad tech service in question is more cost-effective than other ad tech services

Advertisement effectiveness verification is easier with the ad tech service in question

Other (Select this option if you feel there is no other choice to use the current service excluding the above a) to f))

We do not believe our company has no choice but to use ad tech services in question

60%

62
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Q25. (For those to answered a) or b) for at least one question out of Q9-2, Q11-2, Q12-2, Q13-3, Q14-2, Q15-3, Q16-2, Q17-2, Q18-
2, Q19-2, Q20-2, and Q21-2) This question is for companies who answered they have a certain amount of disadvantageous
effects due to actions taken by digital platform operators. Do you believe your company has no choice but to use ad tech
services offered by digital platform operators? If so, please select the reasons from the following. [Multiple answers accepted]

Answers Google Yahoo! Facebook Twitter LINE Others
Number |Ratio (%)| Number |Ratio (%)| Number |Ratio (%)| Number |Ratio (%)| Number [Ratio (%)| Number (Ratio (%)
of of of of of of
answers answers answers answers answers answers

a) There are no other ad tech service providers except the ad tech 13 33.3 1 30.6 9 27.3 10| 37.0 8 28.6 3 15.8
service provider in question
b) The human and financial burden of transitioning to another ad 8 20.5] 8 22.2 7 21.2 7 25.9 6 214 6 31.6
tech service is too large
c) The accumulated data (such as transaction data) of the said ad 11 28.2 9 25.0 6 18.2 5 18.5 2 71 2 10.5
tech service is necessary for business
d) Using the ad tech services in question is effective in order to 26 66.7 23 63.9 17 515 15 55.6 16| 57.1 6 31.6
reach more consumers in the current society, in which
digitalization has been progressing
e) The ad tech service in question is more cost-effective than 17 43.6 12 333 8 24.2 5 18.5 6 214 4 211
other ad tech services
f) Advertisement effectiveness verification is easier with the ad 9 231 6 16.7 6 18.2 4 14.8 2 71 3 15.8
tech service in question
g) Other (Select this option if you feel there is no other choice to - - 1 2.8 - - - - - - 1 5.3
use the current service excluding the above a) to f))
h) We do not believe our company has no choice but to use ad 4 10.3 5 13.9 5 15.2 3 1.1 5 17.9 8 421
tech services in question

Number of respondents 39 - 36 - 33 - 27| - 28 - 19 -

63



Questionnaire for intermediaries
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Q1. Which of the following ad tech services do you operate? [Multiple answers

accepted]
0% 10% 20% 30% 40%

a) DSP(Demand Side Platform)

b) Ad network

d) SSP(Supply Side Platform)

e) Ad server

f) Others

50%

60%

Answers N:nms‘l;i:_:f Ratio(%)

a) DSP (Demand Side Platform) 24 63.2
b)Ad ..... Network ___________________________________________________________________________________________________________________________________________________________________________________________ 17 ___________________ 447
c)Ad ..... EXChange ........................................................................................................................................................................................ 13 ................... 342
d) ..... s sp(supp|y _____ s .de _____ Platform) _____________________________________________________________________________________________________________________________________________________ 10 ___________________ 253
e)Adserver _____________________________________________________________________________________________________________________________________________________________________________________________________ 8 ___________________ 211
f)Others .......................................................................................................................................................................................................... 16 ................... 421

Number of respondents 38 -
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Q2. What is the total number of employees in your company? [Select one]

0% 10% 20% 30% 40%

a) Ten or less I
b)11to 50 —
c)51t0 100 S
d) 101 to 300 N
e) 301 to 1,000
f) 1,001 or more N

Answers bl T Ratio (%)
answers
a) Ten or less 2 5.3
b)11t050 ................................................................................................................................................................................................... 13 .................. 342
0)5“0100 3 .................... 79
d)101t0300 3 .................... 79
e)3o1to1,ooo ............................................................................................................................................................................................ 10 .................. 263
f)1,oo1ormore B T
Number of respondents 38 100. 0|




Q3. What is the capital or total amount of investment of your company? [Select one]

0% 10%

a) 0 yen

b) One yen to ten million yen

c) More than ten million yen to 50 million yen

d) More than 50 million yen to 100 million yen

e) More than 100 million yen to 300 million yen

f) More than 300 million yen

30%

40%

s’ || Rato o
_______________________ 8 211
_______________________ 7 184
....................... 7 184
....................... 5 132
f) More than 300 millionyen 11 289
Number of respondents 38 100.0
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Q4. What is the amount of total sales in your company? Please answer the average
amount of three recent fiscal years. (a rough estimate is acceptable) [Select one]

a) Ten million yen or less

b) More than ten million yen to 50 million yen

c) More than 50 million yen to 100 million yen

d) More than 100 million yen to one billion yen

e) More than one billion yen to ten billion yen

f) More than ten billion yen to 100 billion yen

d) More than 100 billion yen

0

==

10%

20%

30% 40% 50%

Answers Number of Answers Ratio (%)

a) Ten million yen or less - E
b)Morethantenm,||,onyent°50m,||,°nyen |
c)Morethan50m,||,°nyentom()m,",onyen |
d)Morethan100m“"°nyent°oneb“"onyen 8 211
e)Morethanoneb,",onyentotenb,”,onyen ................................................................................................................................. 15 395
f)Morethantenb,",onyento100b,",°nyen g 237
g)Morethanmom",onyen 6 158

Number of respondents 38 100.0
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Q5. What is the amount of total sales for digital advertising business in your company? Please
answer the average amount of three recent fiscal years. (a rough estimate is acceptable)[Select
one]

0% 10% 20% 30% 40%
A0yen  —
b) One yen to one million yen
c) More than one million yen to five million yen
d) More than five million yen to ten million yen
e) More than ten million yen to 50 million yen ]
f) More than 50 million yen to 100 million yen I
g) More than 100 million yen to one billion yen |1
h) More than one billion yen to ten billion yen
i) More than ten billion yen to 100 billion yen ]
|

j) More than 100 billion yen

Answers Number of Ratio(%)
answers

a) 0 yen 2 5.3
b) o yen . yen ............................................................................................................................................................ A i
c) T yen P yen .......................................................................................................................... e :
d) L yen P yen ........................................................................................................................... R -
e)Morethantenm“honyento5om||||onyen .............................................................................................................................. o 5 s
f)Morethan50m||||°nyento1oom|||,°nyen B S
g)Morethan100m||||onyentooneb“honyen ......................................................................................................................... R
h)Morethanoneb||||onyentotenb.|||onyen ........................................................................................................................... T e s
|)M°rethantenb||| - yent°100b||||onyen ............................................................................................................................... P s
j)Morethanmommoan ................................................................................................................................................................ | e

Number of respondents 38 100. 0




Q6. What is the ratio of revenue from transactions with business partners in your overall digital
advertising business sales? Please answer the average amount of three recent fiscal years per
business partner. (a rough estimate is acceptable) [Select one]

0% 20% 40% 60% 80% 100%

Google NN - n
Yahoo! N ]
Facebook -
Twitter I~
LINE e
Others EENTT T

M a) 0% ™ b) More than 0% to 10% I c) More than 10% to 30%
d) More than 30% to 50% M e) More than 50% to 70% ™ f) More than 70% to 90%
M g) More than 90% to less than 100% M h) 100%
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Q6. What is the ratio of revenue from transactions with business partners in your
overall digital advertising business sales? Please answer the average amount of three
recent fiscal years per business partner. (a rough estimate is acceptable) [Select one]

Google Yahoo! Facebook Twitter LINE Others
Answers Number | Ratio (%) | Number |Ratio (%) | Number | Ratio (%) | Number | Ratio (%) | Number | Ratio (%) | Number | Ratio (%)
of of of of of of
answers answers answers answers answers answers
a) 0% 5 13.9 10 27.8 14 38.9 17 47.2 16 44.4 1 6.3
0, 0,
b) More than 0% to 10% 5 13.9 12 33.3 13 36.1 16 444 150 417 5 31.3
0, 0,
c) More than 10% to 30% 9 250 10 278 8 222 2 5.6 3 8.3 5 313
d) More than 30% to 50% 9 25.0 3 8.3 i i i - 1 6.3
e) More than 50% to 70% 4 11.1 i i i 1 2.8 1 6.3
f) More than 70% to 90% 3 8.3 1 2.8 1 2.8 1 2.8 1 28 3 1838
d) More than 90% to less than 1 28 i J J J i i -
100% '
h) 100% i . . . . . 1 . i -
Number of respondents 36 100.0 36 100.0 36  100.0 36 100.0 36 100.0 16 100.0
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Facebook

Q7. When doing business with digital platform operators, do contracts with the said digital
platform operator contain stipulations as seen below? [Multiple answers accepted]

0% 10% 20% 30% 40% 50% 60% 70%

Google

Yahoo!

Twitter

LINE

i

Ot el

¥ a) Contracts are uniform and cannot be changed based on negotiation

" b) The said digital platform operators can change contract terms on a discretionary basis
c) Digital platform operators can stop providing their service on a discretionary basis
d) Even if the contract is between two domestic businesses, jurisdiction (such as exclusive court jurisdiction) is
established overseas

He) There is no liability or limited liability for any interruption of services (including system failures) of ad tech
services offered by the said digital platform operators

" f) Compensation for damage can only be claimed from the said digital platform operators (on a one-way basis)

" 9) Only the said digital platform operator can audit your company system (on a one-way basis)

® h) Other (Select this option if there are contract items excluding the above a) to g) which you feel are an issue)

i) There are no issues or problematic provisions as seen above

o)) We have never dealt with any of the said digital platform operators
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Q7. When doing business with digital platform operators, do contracts with the said
digital platform operator contain stipulations as seen below? [Multiple answers

accepted]
Google Yahoo! Facebook Twitter LINE Others
Answers Number of | Ratio (%) [Number of| Ratio (%) |Number of| Ratio (%) |Number of| Ratio (%) |Number of| Ratio (%) |Number of| Ratio (%)
answers answers answers answers answers answers

a) Contracts are uniform and cannot be changed
based on negotiation 23 63.9 17| 47.2 18| 50.0 15| 41.7| 15 41.7| 6 31.6
b) The said digital platform operators can
change contract terms on a discretionary basis 12 33.3 9 25.0 7 19.4 7 19.4 6 16.7| 7 36.8
c) Digital platform operators can stop providing
their service on a discretionary basis 12 33.3 8 22.2 7 19.4 7 19.4 6) 16.7 6 31.6
d) Even if the contract is between two domestic
businesses, jurisdiction (such as exclusive court
jurisdiction) is established overseas 10 27.8 1 2.8 6 16.7 4 1.1 1 2.8 2 10.5
e) There is no liability or limited liability for any
interruption of services (including system
failures) of ad tech services offered by the said 12 33.3 6 16.7 7 19.4 6 16.7 4 111 2 10.5
digital platform operators ’ ' ’ ’ ’ )
f) Compensation for damage can only be claimed
from the said digital platform operators (on a 7 19.4 5 13.9 7 19.4 4 111 5 13.9 3 15.8
one-way basis)
g) Only the said digital platform operator can
audit your company system (on a one-way basis) 2 5.6 1 2.8 1 2.8 3 8.3 2 5.6 5 26.3
h) Other (Select this option if there are contract
items excluding the above a) to g) which you feel 3 8.3 1 2.8 1 2.8 1 2.8 3 8.3 - -
are an issue)
i) There are no issues or problematic provisions
as seen above 5 13.9 9 25.0 5 13.9 7 19.4 6 16.7 1 57.9
i) We have never dealt with any of the said digital
platform operators 4 1.1 7 19.4 1 30.6] 13| 36.1 13 36.1 - -

Number of respondents 36 - 36) - 36 - 36 - 36 - 19 -




Q7-2. (For those who answered a) to h) at Q7) How does the contract impact your business
activities? [Select one]

0% 20% 40% 60% 80% 100%

Google mm

Yahoo!
Facebook

Twitter

LINE =
Others
M a) It had a serious impact b) It had a moderate impact c) It had only a slight impact
on business activities on business activities on business activities

d) There had been no impact M e) Don’t know
on business activities

Google Yahoo! Facebook Twitter LINE Others
Answers Number of | Ratio (%) |Number of | Ratio (%) |Number of | Ratio (%) | Number of| Ratio (%) |Number of | Ratio (%) |Number of| Ratio (%)
answers answers answers answers answers answers
a) It had a serious
impact on business 1 3.6 - - - - - - 1 5.6 - -
activities
b) It had a moderate
impact on business 8 28.6 3 14.3 5 23.8 2 11.8 1 5.6 1 9.1
activities
c) It had only a slight
impact on business 7 25.0 2 9.5 6 28.6 3 17.6) 4 22.2 2 18.2
activities
d) There had been no
impact on business 11 39.3 15 71.4 10 47.6 12 70.6 12 66.7 8 72.7
activities
e) Don’t know 1 3.6 1 4.8 - - - - - - - -
Number of respondents 28 100.0 21 100.0 21 100.0 17| 100.0 18 100.0 11 100.0




Q8. When using the ad tech services provided by digital platform operators,

did you experience any of the following changes with transition to the said ad
tech service system? [Multiple answers accepted]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90%

Google
Yahoo!
Facebook
Twitter

LINE
Others

¥ a) We struggled to correspond to the sudden system change
“b) Reasons for the system change were not clearly stated
c) Company wishes were not reflected in the system change

d) Other (Select this option if there are issues in system change excluding the
above a) to c))

“e) There are no issues, and no problems as seen above
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Q8. When using the ad tech services provided by digital platform operators, did you
experience any of the following changes with transition to the said ad tech service
system? [Multiple answers accepted]

Google Yahoo! Facebook Twitter LINE Others
QUSEELS Number of| Ratio (%) [Number of| Ratio (%) [Number of| Ratio (%) [Number of| Ratio (%) [Number of| Ratio (%) [Number of| Ratio (%)
answers answers answers answers answers answers
a) We struggled to correspond to
the sudden system change
15 46.9 2 6.9 11 44.0 5 21.7 4 17.4 2 10.5
b) Reasons for the system change
were not clearly stated 1 34.4 6 20.7 7 28.0 5 21.7 6 26.1 - -
c) Company wishes were not
reflected in the system change
9 28.1 5 17.2 6 24.0 5 21.7 6 26.1 2 10.5
d) Other (Select this option if there
are issues in system change i i il . . i . . . i i il
excluding the above a) to c))
e) There are no issues, and no
problems as seen above 13 40.6 20| 69.0 12 48.0 16 69.6 14 60.9 16 84.2
Number of respondents 32 - 29 - 25 - 23 - 23 - 19 -
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Q8-2. (For those who answered a) to d) at Q8) How did this impact your
business activities? [Select one]

Google
Yahoo!
Facebook
Twitter

LINE

Others

0% 20% 40% 60% 80% 100%

M a) It had a serious impact i b) It had a moderate impact
on business activities on business activities

I c) It had only a slight impact " d) There had been no impact
on business activities on business activities

M e) Don’t know
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Q8-2. (For those who answered a) to d) at Q8) How did this impact your
business activities? [Select one]

Answers Google Yahoo! Facebook Twitter LINE Others
Number| Ratio [Number| Ratio |Number| Ratio [Number| Ratio |Number| Ratio [Number| Ratio
of (%) of (%) of (%) of (%) of (%) of (%)

answers answers answers answers answers answers

a) It had a serious impact 1 53

on business activities : ) ) ) il il il il ) ) il

b) It had a moderate impact

on business activities 9 47.4 2 20.0 7 53.8 3 429 2 22.2 2 333

c) It had only a slight impact

on business activities 6 31.6 6 60.0 4 30.8 3 42.9 5 55.6 4 66.7

d) There had been no

impact on business 2 10.5 2 20.0 2 15.4 1 14.3 2 22.2 - -

activities

e) Don’t know 1 53 i i i | | | | i i |

Number of respondents 19 100.0 10 100.0 13 100.0 71 100.0 9 100.0 6 100.0
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Q9. When using the ad tech services provided by digital platform
operators, did you experience any of the following? [Multiple answers
accepted]

0% 20% 40% 60% 80% 100%

Google
Yahoo!

Facebook

Twitter
LINE

Others ws—

¥ a) Digital platform operators prohibited use of other third-party services
“b) Staff from the digital platform operators told us not to use third-party services (Explicitly or implicitly)
c) Consultation to digital platform operators was necessary when using a third-party service that is not an ad
tech service provided by them.
d) There was no clear explanation on why an account was suspended
“e) Other (Select this option if there were issues in using third-party services excluding the above a) to d) )
=f) There were no issues, and no problems as seen above
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Q9. When using the ad tech services provided by digital platform
operators, did you experience any of the following? [Multiple answers

accepted]
Google Yahoo! Facebook Twitter LINE Others
Answers Number |Ratio (%)| Number [Ratio (%)| Number |Ratio (%) Number [Ratio (%)| Number |Ratio (%) Number |Ratio (%)
of of of of of of
answers answers answers answers answers answers

a) Digital platform operators prohibited use
of other third-party services . i . . i . . i . 1 i .
b) Staff from the digital platform operators
told us not to use third-party services
(Explicitly or implicitly) 1 3.1 - - - - - - - N - -
c) Consultation to digital platform operators
was necessary when using a third-party
service that is not an ad tech service
provided by them. 1 31 b b " b b y b 7 y b
d) There was no clear explanation on why
an account was suspended 1 31 - - 2 8.0 - - - - - -
e) Other (Select this option if there were
issues in using third-party services
excluding the above a) to d) ) 1 3.1 - - - - - - - - 3 15.8
f) There were no issues, and no problems 30 938 20 1000 23 920 23 1000 23 100.0 16|  84.2
as seen above ' ) ) ' ' )

Number of respondents 32 - 29 - 25 - 23 - 23 - 19 -
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Q9-2. (For those who answered a) to e) at Q9) How did this impact your business
activities? [Select one]

0% 20% 40% 60% 80% 100%
G 0.0 Q| ©
Yahoo!
FET-{ @
Twitter
LINE

Ot e r's /T —

M a) It had a serious impact on business activities M b) It had a moderate impact on business activities
[ c) It had only a slight impact on business activities || d) There had been no impact on business activities
M e) Don’t know

Google Yahoo! Facebook Twitter LINE Others
Answers Number | Ratio (%) | Number | Ratio (%) | Number | Ratio (%) | Number | Ratio (%) | Number | Ratio (%) | Number | Ratio (%)
of of of of of of
answers answers answers answers answers answers

a) It had a serious impact on
business activities 7 7 T T 7 T T T 7 T T
b) It had a moderate impact on
business activities 2 100.0 T T 1 50.0 T T T 7 T T
c) It had only a slight impact on 1 50.0
business activities 7 7 1 T . T T T 7 T T
d) There had been no impact on
business activities 7 7 T T 7 T T T 7 T T
e) Don’t know - - - - - - - - - - 3 100.0

Number of respondents 2 100.0 - - 2 100.0 - - - - 3 100.0




Q10. When using the ad tech services provided by digital platform operators to distribute
advertisements through your own ad tech services (DSP etc.), was there a case in which
your company was not able to distribute advertisements in the wanted inventory, despite
bidding at a price your company believed was more than reasonable? [Select one]

) o o o ) o
0% 20% 40% 60% 80% 100%
Google I
'Y @10 O O |

FaceboOOk 1
Twitter
1IN [ 10000
|
Others
M a) Yes M b) No M c) Don’t know
Answers Google Yahoo! Facebook Twitter LINE Others
Number |Ratio (%)| Number |Ratio (%)| Number |Ratio (%)| Number |Ratio (%)| Number [Ratio (%)| Number [Ratio (%)
of of of of of of
answers answers answers answers answers answers
a) Yes 7 21.9 4 13.8 4 16.0 4 17.4 4 17.4 5 26.3
b) No 11 34.4 10 34.5 10 40.0 10 43.5 10 43.5 8 42.1
c) Don’t know 14 43.8 15 51.7| 1 44.0 9 391 9 391 6 31.6)
Number of respondents 32 100.0 29 100.0 25 100.0 23 100.0 23 100.0 19 100.0




Q10-1. (For those who answered “a) Yes” at Q10) Was there an explanation from the said
digital platform operator on why the advertisement was not distributed? [Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
Google
Yahoo!
Facebook

L
I
I @ 4

Twitter I
I @
I 4@

LINE
Others
B WaYes WMb)No
Google Yahoo! Facebook Twitter LINE Others
Answers Number |Ratio (%)| Number |Ratio (%)| Number |Ratio (%)| Number [Ratio (%)| Number |Ratio (%)| Number |Ratio (%)
of of of of of of
answers answers answers answers answers answers

a) Yes 2 28.6 1 25.0 3 75.0 1 25.0 3 75.0 3 60.0
b)No _______________________________________________________________ 5 _________ 714 ________________ 3 ......... 750 _______________ 1 _________ 2503 ......... 750 ............... 1 _________ 2502 400
Number of respondents 7/ 100.0 4/, 100.0 4 100.0 4 100.0 4 100.0 5 100.0




Q10-1-1. (For those who answered “a) Yes” at Q10-1) Was your company satisfied
with the explanation? [Select one]

0% 20% 40% 60% 80% 100%
Google N
Yahoo!
Facebook I
Twitter
LINE .
Others N
M a) Yes M b) No
Answers Google Yahoo! Facebook Twitter LINE Others
Number |Ratio (%)| Number |Ratio (%)| Number [Ratio (%) Number |Ratio (%) Number |Ratio (%)| Number |Ratio (%)
of of of of of of
answers answers answers answers answers answers
a) Yes 2| 100.0 1 100.0 3 100.0 1 100.0 3 100.0 3 100.0
b)No ................................................................................ - ................ ---------
Number of respondents 2. 100.0 1 100.0 3 100.0 1 100.0 3 100.0 3 100.0
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Q10-3. (For those who answered “a) Yes” at Q10) How did being unable to distribute
advertisements impact your business activities? [Select one] (*If there were multiple
cases, answer the one case that had the most impact on your company.)

0% 20% 40% 60% 80% 100%

Google
Yahoo!
Facebook
Twitter
LINE

Others

M a) It had a serious impact on business activities b) It had a moderate impact on business activities
c) It had only a slight impact on business activities d) There had been no impact on business activities
e) Don’t know

Google Yahoo! Facebook Twitter LINE Others
Answers Number of | Ratio (%) |Number of | Ratio (%) |Number of| Ratio (%) |Number of| Ratio (%) |Number of | Ratio (%) [Number of| Ratio (%)
answers answers answers answers answers answers
a) It had a serious impact on
business activities 7 7 7 ] 7 ] 7 ] 7 ] 7 ]
b) It had derate i t
b) It had a moderate impact on 5 714 2 500 2 500 2 500 - ] 2 400
c) |t hadomy as| Ightlmpacton ..............................................................................................................................................................................................................................................................................
business activities 1 14.3 2 50.0 2 50.0 2 50.0 2 50.0 3 60.0
d) There had been no impact on
business activities ] ] ] 7 ] 7 ] 7 2 50.0 ] 7
e)Don’tknow .................................................................. 1 .............. 143 .................... - .................... - ..................... - ..................... - .................... - .................... - - ..................... - ..................... - .................... -
Number of respondents 7 100.0 4 100.0 4 100.0 4 100.0 4 100.0 5 100.0 85



Q11. As a condition of using the ad tech services provided by digital platform operators,
did the said digital platform operators ask you to suspend or ban the following

business activities? [Multiple answers accepted]
20%

0%
Google
Yahoo!
Facebook

Twitter
LINE

Others

40%

60% 80%

100%

M a) Overall business that competes with the business implemented by the said digital platform operators
b) User information collection business for implementing ad tech services
c) Data sales business related to user behavior, etc.
d) You have never been asked to suspend or ban the business activities listed above

Google Yahoo! Facebook Twitter LINE Others
Answers
Number of Ratio (%) Number of Ratio (%) Number of Ratio (%) Number of Ratio (%) Number of Ratio (%) Number of Ratio (%)
answers answers answers answers answers answers

a) Overall business that competes with the
business implemented by the said digital - - - - - - - - - - 1 5.3
platform operators
b) User information collection business for 1 31 1 3.4 1 4.0 i . i .
implementing ad tech services ' ’ ’
c) Data sales business related to user 1 3.1 1 3.4 1 4.0 i il i i
behavior, etc. : ' :
d) You have never been asked to suspend 31 96.9 28 96.6 24 96.0 23 100.0 23 100.0 18 94.7
or ban the business activities listed above

Number of respondents 32 - 29 - 25 23 - 23 - 19 -
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Q11-1. (For those who answered a) to c) at Q11) Was there an explanation from the

said digital platform operator on why it asked you to suspend or ban your business
activities? [Select one]

0% 20% 40% 60% 80% 100%
Google ImmmmmIIImm™m—,
Yahoo! I
Facebook i
Twitter
LINE

Others I

M a)Yes WM b)No [ c)Don’t know

Google Yahoo! Facebook Twitter LINE Others
Answers Number Number Number Number Number Number
of |Ratio (%) of |Ratio (%) of |Ratio (%) of |Ratio (%) of |Ratio (%) of |Ratio (%)
answers answers answers answers answers answers
a) Yes 1 100.0
b) No
c) Don’t know 1 100.0 1 100.0 1 100.0
Number of respondents 1 100.0 1 100.0 1 100.0 - - - - 1 100.0
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Q11-1-1. (For those who answered “a) Yes” at Q11-1) ) Was your company satisfied

with the explanation? [Select one]

Google
Yahoo!
Facebook
Twitter
LINE

20%

60%

100%

Others NI,

M a) Yes ™ b)No

c) Don’t know

Answers

c) Don’t know

Number of respondents

Google Yahoo! Facebook Twitter Tt
Number Number Number Number Number
Ratio (%) Ratio (%) of |Ratio (%) Ratio (%) of |Ratio (%)
answers answers answers answers answers
1 100.0
1 100.0




Q11-2. (For those who answered a) to c) at Q11) How did being asked to suspend or ban

your business activities impact your business activities? [Select one]

0%
Google

20%

40%

60%

80%

100%

Yahoo!

Facebook

Twitter
LINE

Others

M a) It had a serious impact on business activities
c) It had only a slight impact on business activities

[l e) Don’t know

M b) It had a moderate impact on business activities
d) There had been no impact on business activities

Google Yahoo! Facebook Twitter LINE Others
Answers Nur:fber Ratio Nur:fber Ratio Nur:fber Ratio Nur:fber Ratio Nur:fber Ratio Nur:fber Ratio
(%) (%) (%) (%) (%) (%)
answers answers answers answers answers answers
a) It had a serious impact on i 1 1 1 ) i i 1 1 ) ) i
business activities
b) It had a moderate impact i 1 1 1 ) i i 1 1 ) ) i
on business activities
c) It had only a slight impact i 1 1 1 ) i i 1 1 ) ) i
on business activities
d) There had been no impact
. s - - - - - - - - - - 1 100.0

on business activities
e) Don’t know 1 100.0 1 100.0 1 100.0 - - - - - -

Number of respondents 1 100.0 1 100.0 1 100.0 - - - - 1 100.0
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Q12. Regarding the function of ad tech services for publishers provided by digital
platform operators, did you sell inventory as an agent (selling inventory, which is
mediated through the ad tech services provided by digital platform operators, on
behalf of the said digital platform operators) (within three recent fiscal years )? [Select
one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
Google NN
Yahoo! |

Facebook [
Twitter |
LINE | —_
Others I

M a) Yes ™ b)No
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Q12. Regarding the function of ad tech services for publishers provided by digital
platform operators, did you sell inventory as an agent (selling inventory, which is
mediated through the ad tech services provided by digital platform operators, on
behalf of the said digital platform operators) (within three recent fiscal years )? [Select

one]
Google Yahoo! Facebook Twitter LINE Others
Answers
Nun::fber Ratio Nur:fber Ratio Nur:fber Ratio Nur:fber Ratio Nur:fber Ratio Nur:fber Ratio
(%) (%) (%) (%) (%) (%)
answers answers answers answers answers answers
a) Yes 15 46.9 15 51.7 14 56.0 12 52.2 11 47.8 10 52.6
b) No 17 53.1 14 48.3 11 44.0 11 47.8 12 52.2 9 474
Number of 32 100.0 29 100.0 25 100.0 23 100.0 23 100.0 190  100.0
respondents

91



Q12-1. (For those who answered “a) Yes” at Q12) When selling inventory as an agent,
were you requested the following conditions by the said digital platform operators?
[Multiple answers accepted]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

Google o

Yahoo!

Facebook

Twitter

LINE

Others

¥ a) Make the percentage of the inventory sold as an agent to overall inventory larger than a certain level
b) It is necessary to have your customers preferentially use the service to be sold as an agent over your original services
c) Restrict any trade with competitors of the said digital platform operators
d) Restrict business activities with some publishers

¥ e) Restrict implementation of header bidding functions as your original services

¥ f) You are required to add your own unique value-added service to the services you sell as an agent

¥ g) When you implement new functions as your original services, it is necessary to share information of the new functions to
the said digital platform operators

® h) Other (Select this option if there is any concerns excluding the above a) to g) while selling inventory as an agent)
¥ i) You have never been requested any conditions
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Q12-1. (For those who answered “a) Yes” at Q12) When selling inventory as an agent,
were you imposed the following conditions by the said digital platform operators?
[Multiple answers accepted]

Google Yahoo! Facebook Twitter LINE Others
Answers Number Number Number Number Number Number
of Ratio (%) of Ratio (%) of Ratio (%) of Ratio (%) of Ratio (%) of Ratio (%)
answers answers answers answers answers answers
a) Make the percentage of the inventory sold as an|
agent to overall inventory larger than a certain 1 6.7 - - - - - - - - - -
level e
b) It is necessary to have your customers
preferentially use the service to be sold as an 2 13.3 - - - - - - - - - -
agent over your original services
c) Restrict any trade with competitors of the said il . i i i i i . i} i i il
digital platform operators
d) Rt::strlct business activities with some 1 6.7 . i i i i . i )l 1 14.3
Publishers e e
e) Restrict implementation of header bidding 1 6.7 . i i i i . i i i .
functions as your original services ’
f) You are required to add your own unique value-
. - 1 6.7 - - - - - - L - E -
added service to the services you sell as an agent
g) When you implement new functions as your
original services, it is necessary to share 1 6.7 . i i i i . i i i .
information of the new functions to the said digital ’
platform operators
h) Other (Select this option if there is any
concerns excluding the above a) to g) while 1 6.7 - - - - - - - - - -
selling inventory as an agent)
i) You have never been requested any conditions 13| 86.7 15| 100.0 14 100.0 12 100.0 1 100.0 6 85.7
Number of respondents 15| - 15| - 14 - 12 - 11 E 7 -
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Q12-1-2. (For those who answered a) to h) at Q12-1) How imposing the
conditions impact your business activities? [Select one]
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M a) It had a serious impact on business activities
c) It had only a slight impact on business activities

e) Don’t know
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b) It had a moderate impact on business activities

d) There had been no impact on business activities
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Answers

Number of
answers
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Number of .
answers Ratio ()
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answers
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answers Ratio ()
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answers
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a) It had a serious
impact on business
activities

b) It had a moderate
impact on business
activities

c) It had only a slight
impact on business
activities

d) There had been no
impact on business
activities

e) Don’t know

Number of
respondents
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Q13. In ad exchanges provided by digital platform operators, have you felt
that the said digital platform operators control minimum bidding prices
(floor prices) ? [Select one]

0% 20% 40% 60% 80% 100%

(G 00| € 1 s
'Y 21 0 0
IFa1C.e .00 K s
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Otheerrs s

¥ a)Yes
“'b) No
“ ¢) Don’t know
d) We have never used the ad exchange provided by the said digital platform operators
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Q13. In ad exchanges provided by digital platform operators, have you felt that the
said digital platform operators control minimum bidding prices (floor prices) ?

[Select one]

Google Yahoo! Facebook Twitter LINE Others
Answers Number of Number of Number of Number of Number of Number of
umuer ofi patio (%) | oer O Ratio (%) [ L UMRCT Ol Ratio (%) | PCT Ol Ratio (%) [ 28! O Ratio (%) [ MPCT Ol Ratio (%)
answers answers answers answers answers answers
a) Yes 7 21.9 1 3.4 3 12.0 1 43 3 13.0 3 15.8
b) No 9 281 9 31.0 5 20.0 6 26.1 5 21.7 8 421
c) Don’t know 14 43.8 15 51.7 15 60.0 16 69.6 13 56.5 7 36.8
d) We have never used ad
exchange provided by the said 2 6.3 4 13.8 2 8.0 2 8.7 1 5.3
digital platform operators
Number of respondents 32 100.0 29 100.0 25 100.0 23 100.0 23 100.0 19 100.0
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Q13-2. (For those who answered “a) Yes” at Q13) Did your company suffer
disadvantages due to this activity? [Select one]

0% 20% 40% 60% 80% 100%
(G0 0 | © 0
Y @10 O O 0
SFTo:1olele] G
TV 0
L 1IN B 0

O tih 1S 1

M a) There were major disadvantages M b) There were moderate disadvantages M c¢) There were almost no
disadvantages
d) There were no disadvantages M e) Don’t know
Google Yahoo! Facebook Twitter LINE Z Dt
Answers Num::er Ratio Num::er Ratio Num::er Ratio Num::er Ratio Num::er Ratio Num::er Ratio
o () () () () ()
answers (%) answers (%) answers (%) answers (%) answers (%) answers (%)
a) There were major _ _ _ _ _ _ _ _ _ _ _ _
disadvantages =~ 1 b b
b} There were moderate 4 57 1 i i | | | | | | 9 33 3
disadvantages
¢) There were almost no 2 286 1 100.0 3 100.0 1 100.0 3 100.0 4 66.7
disadvantages 1 e e
d) There were no _ _ _ _ _ _ _ _ _ _ _ _
disadvantages
e) Don’t know 1 14.3 - - - - - - - - - -
Number of respondents 7 100. 0 1 100.0 3 100. 0 1 100. 0 3 100. 0 6 100.0




Q14. When an inventory auction is conducted in ad exchanges provided by digital
platform operators, have you felt that the said digital platform operators have a grasp on

bidding price of other bidders beforehand and use this information in these auctions?
[Select one]

0% 10% 20% 30%  40% 50% 60% 70% 80% 90% 100%

G0 OG | © T
Yahoo!
Facebook Hmmmmmmmmmmmmmmmmmmmmm
Twitter I
LINE S

Ot S 0

¥ a) Yes

“b) No

“ c) Don’t know

d) We have never used the ad exchange provided by the said digital platform operators

Google Yahoo! Facebook Twitter LINE Others
Answers Number| Ratio |Number| Ratio [Number| Ratio |Number| Ratio |Number| Ratio |Number| Ratio
of (%) of (%) of (%) of (%) of (%) of (%)
answers answers answers answers answers answers

a) Yes 1 3.1 - - - - - - - - - -
b) No 14 43.8 13 44.8 12 48.0 10 43.5 1 41.8 3 15.8
c) Don’t know 16 50.0 13 44.8 12 48.0 12 52.2 10 43.5 16 84.2
d) We have never used the ad
exchange provided by the said 1 3.1 3 10.3 1 4.0 1 4.3 2 8.7 . -
digital platform operators o
Number of respondents 32 100. 0 29 100.0 25 100.0 23 100.0 23 100. 0 19 7° 100. 0




Q14-2. (For those who answered “a) Yes” at Q14) Did your company suffer
disadvantages due to this activity? [Select one]

0% 20% 40% 60% 80% 100%
Google
Yahoo!
Facebook
Twitter
LINE
Others
M a) There were major disadvantages b) There were moderate disadvantages c) There were almost no
disadvantages
d) There were no disadvantages e) Don’t know
Google Yahoo! Facebook Twitter LINE Others
Answers Number [Ratio (%) Number |Ratio (%)| Number |Ratio (%)| Number [Ratio (%) Number |Ratio (%)| Number [Ratio (%)
of of of of of of
answers answers answers answers answers answers

a) There were major
disadvantages

b) There were moderate
disadvantages

c) There were almost no
disadvantages

e) Don’t know

Number of respondents 1 100.0




Q15. When part of the inventory sold using the ad tech service provided by
digital platform operators is certified as ad fraud, what kind of information
will be disclosed by the said digital platform operators regarding the
advertisements related to the said inventory? Please select from the
following. [Multiple answers accepted]

0% 10% 20% 30% 40% 50% 60% 70%

Google
Yahoo!
Facebook
Twitter

LINE

+

Others

¥ a) Advertising charges for ad fraud certified

¥ b) The name of publishers that hold the inventory that has been certified as ad fraud
c) Timing of distribution to publishers that hold the inventory that has been certified as ad fraud
d) No information disclosed

¥ e) Never experienced an ad fraud-related event
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Q15. When part of the inventory sold using the ad tech service provided by
digital platform operators is certified as ad fraud, what kind of information
will be disclosed by the said digital platform operators regarding the
advertisements related to the said inventory? Please select from the
following. [Multiple answers accepted]

Google Yahoo! Facebook Twitter LINE Others
Answers
W Nur:fber Ratio Nur:fber Ratio Nur:fber Ratio Nur:fber Ratio Nur:fber Ratio Nur:fber Ratio
(%) (%) (%) (%) (%) (%)
answers answers answers answers answers answers
a) Advertising charges
for ad fraud certified 12 37.5 8 27.6 4 16.0 3 13.0 2 8.7
B')Afh‘éllrhié“rﬁ'éudf ................................................................................................................................................................................................................................................
publishers that hold the
inventory that has been 3 9.4 2 6.9 3 158
certifiedas ad fraud | 0 L
c) Timing of distribution
to publishers that hold
the inventory that has 4 125 3 103
been certified as ad fraud
d) No information 9l 281 5 17.2 8 320 6  26.1 6 261 6 316
Jdisclosed
e) Never experienced an 9  28.1 14 483 13 52.0 14 609 15  65.2 10, 526
ad fraud-related event
Number of respondents 32 - 29 - 25 - 23 - 23 - 19

101



Q16. When part of the inventory sold using the ad tech service provided by
digital platform operators is certified as ad fraud, do you have any complaint
against information not disclosed or disclosed by the said digital platform

operators regarding the advertisements related to the said inventory? Please
select from the following. [Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

Google
Yahoo!
Facebook
Twitter
LINE
Others
a) Yes b) No c) Don’t know
Google Yahoo! Facebook Twitter LINE Others
Answers Nur:fber Ratio Nu:\fber Ratio Nur:fber Ratio Nur:fber Ratio Nu:\fber Ratio Nur:fber Ratio
(%) (%) (%) (%) (%) (%)
answers answers answers answers answers answers

a) Yes 15 46.9 1 37.9 7 28.0 7 30.4 6 26.1 1 5.3

b) No 6 18.8 5 17.2 5 20.0 5 21.7 6 26.1 6 31.6

c) Don’t know 1 34.4 13 44.8 13 52.0 1 47.8 1 47.8 12 63.2

Number of 32l 100.0 29 100.0 25 100.0 23 100.0 23 100.0 190  100.0
respondents
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Q16-1. (For those who answered “a) Yes” at Q16) Did your company suffer
disadvantages due to information not disclosed or insufficient information? [Select
one]

0% 20% 40% 60% 80% 100%

Google HEET————————U e
Yahoo! NN ————
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Others |

M a) There were major disadvantages ™ b) There were moderate disadvantages ™ c) There were almost no
disadvantages

d) There were no disadvantages M e) Don’t know
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Q16-1. (For those who answered “a) Yes” at Q16) Did your company suffer
disadvantages due to information not disclosed or insufficient information?
[Select one]

Google Yahoo! Facebook Twitter LINE Others
Answers Numb Numb: Numb Numb Numb: Numb
ur:f er Ratio ur:f er Ratio ur:f er Ratio ur:f er Ratio ur:f er Ratio ur;\f er Ratio
(%) (%) (%) (%) (%) (%)
answers answers answers answers answers answers

a) There were major 2 13.3 2 18.2 1 143 1 143 1 16.7 1 100.0
disadvantages
b) There were moderate 7 46.7 6 54.5 5 71.4 5 71.4 4 66.7 -
disadvantages
c)_ There were almost no 4 26.7 2 18.2 . . i . .
disadvantages
d) There were no 1 6.7 1 9.1 1 143 1 143 1 16.7 -
disadvantages
e) Don’t know 1 6.7 - - - - - - - - - i

Number of respondents 15 100.0 1 100.0 7 100.0 7 100.0 6 100.0 1 100.0
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Q17. There are movements to restrict the use of cookies provided by web
browsers for the purpose of protecting privacy, etc. How do you think
restricting the use of cookies impact your business activities? [Select one]

0

a) It had a serious impact
on business activities

10% 20% 30% 40% 50%

=

b) It had a moderate impact
on business activities

c) It had only a slight impact
on business activities

d) There had been no impact
on business activities

e) Don’t know

Answers N::;l::‘:r:d Ratio (%)
a) It had a serious impact on business activities 10 30.3
b) ..... |thadamoderate|mpactonbusmess act, v. t|es ........................................................................................................................................... 1 4 ............................. 42 4|
c)| t hadonlyas" ght ,mpact on . bu smessactm t,es ........................................................................................................................................... 7 ............................. 212
d) . 1- here had been no . mpact on busmess actw,t, es .......................................................................................................................................... 2 ................................ 6 1
e) ..... D on’tknow ........................................................................................................................................................................................................................................................
Number of respondents 33 100.0
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Q18. When using ad tech services provided by digital platform operators,
have you been restricted to access to the data necessary for the digital
advertising business (e.g. data used to verify advertising effectiveness) by
the said digital platform operators? [Select one]

0% 20% 40% 60% 80% 100%
G 009 @
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OIHGFICEE
| a) Ma)Yes MDb)No M c)Don’tknow
Google Yahoo! Facebook Twitter LINE Z 01t
Answers Number off Ratio |Numberoff Ratio [Numberoff Ratio |Numberoff Ratio |Numberof| Ratio |Numberoff Ratio
answers (%) answers (%) answers (%) answers (%) answers (%) answers (%)
a) Yes 3 9.4 1 34 1 4.0 1 43
b) No 13 40.6 10 34.5 10 40.0 8 34.8 12 52.2 10 52.6
c) Don’t know 16 50.0 18 62.1 14 56.0 14 60.9 11 47.8 9 47.4
Number of respondents 32 100.0 29 100.0 25| 100.0 23] 100.0 23 100.0 19 100.0
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Q18-2. (For those who answered “a) yes” at Q12) How does this conduct
impact your business activities? [Select one]

0% 20% 40% 60% 80% 100%

eTeTeTe | R e e

MCLUDGGIEE

IF QG110 O O K 100000

T Vi © I
LINE
Others

M a) It had a serious impact on business activities M b) It had a moderate impact on

business activities

I c) It had only a slight impact on business activities d) There had been no impact on
business activities

M e) Don’t know

Google Yahoo! Facebook Twitter LINE Others
Answers Number Ratio Number . Number . Number . Number . Number

of ( of %) of %) of (%) of %) of (%)
answers answers answers answers answers answers

a) It had a serious impact on
business activities ||

b) It had a moderate impact
on business activities

c) It had only a slight impact
on business activities

d) There had been no impact
on business

e) Don’t know 1 33.3 1 100.0 1 100.0 1 100.0
Number of respondents 3| 100.0 1 100.0 1 100.0, 1 100.0,
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Q19. Have you experienced any of the following when using a professional
service provider to connect with the ad tech services provided by digital
platform operators? [Multiple answers accepted]

0% 10% 20% 30% 40% 50% 60% 70%
Google ——
Yahoo! =
Facebook
Twitter
LINE =
Others o

¥ a) You pay for the connection fee that the said digital platform operators should bear

¥ b) The deviation rate measured by the digital platform operators was adopted instead of the deviation rate measured by the
connection operator

c) Other (Select this option if there is any concerns excluding the above a) or b) regarding the connection operators)
d) Never experienced conducts listed above

¥ e) Never used a professional service provider to connect with the said digital platform operators
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Q19. Have you experienced any of the following when using a professional
service provider to connect with the ad tech services provided by digital
platform operators? [Multiple answers accepted]

Google Yahoo! Facebook Twitter LINE Others
Number Number Number Number Number Number
Answers of Ratio of Ratio of Ratio of Ratio of Ratio of Ratio
answer| (%) |answer| (%) |answer| (%) |answer| (%) |answer| (%) |answer| (%)
s s s s s s
a) You pay for the connection fee that the
said digital platform operators should 3 9.4 1 3.4 1 4.0 1 4.3 1 4.3 3 15.8
bear
b) The deviation rate measured by the
digital platform operators was adopted
instead of the deviation rate measured by 4 125 1 3.4 1 4.0 1 4.3 1 4.3 3 158
the connection operator
c) Other (Select this option if there is any
concerns excluding the above a) or b) - - - - - - - - - - - -
regarding the connection operators.)
d) Never experienced conducts listed 18 563 17| 586 14 56.0 14 609 14 60.9 10, 526
above

e) Never used a professional service
provider to connect with the said digital 10 31.3 11 37.9 10 40.0 8 34.8 8 34.8 6 31.6
platform operators

Number of respondents 32 - 29 - 25 - 23 - 23 - 19 -
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Q19-2. (For those who answered a) to ¢) s at Q19) How does this conduct
impact your business activities? [Select one]
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Q20. What are the reasons your company conducts direct business
transactions with your current digital platform operator? Please select from
the following. [Multiple answers accepted]

0% 10% 20% 30% 40% 50% 60% 70% 80%

a) It possesses media that many consumers are attracted to and use their time to

view (such as search sites, social media, video streaming website) e
b) The number of advertisers (ad agencies) or the publisher network which
advertisements are distributed to (number of consumers reached) I
c) Targeting accuracy which has been enhanced with a vast amount of data |GG
d) Convenient services conducted by integration of multiple ad tech services |G
e) Ad tech technologies such as for real-time bidding |G
f) Connectivity of ad servers used by our company [[NNEGND
g) Valid verification of advertisement effects |GG
h) User-friendly interface [N OO

i) Ability to appeal to advertisers with the factors listed above [[INENEGEGEGEGEEES

j) Other (Select this option if you feel there are reasons to do business  [Jjj
excluding the above a) to i) .)

k) There is no particular reason

90%
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Q20. What are the reasons your company conducts direct business
transactions with your current digital platform operator? Please select from
the following. [Multiple answers accepted]

Number

Answers of R?tlo
(%)
answers

a) It possesses media that many consumers are attracted to and use their time to view (such as 25 75.8
search sites, social media, video streaming website) )
b) The number of advertisers (ad agencies) or the publisher network which advertisements are

D 27 81.8
distributed to (number of consumers reached)
c) Targeting accuracy which has been enhanced with a vast amount of data 20 60.6
d) Convenient services conducted by integration of multiple ad tech services 13 39.4
e) Ad tech technologies such as for real-time bidding 19 57.6
f) Connectivity of ad servers used by our company 10 30.3
g) Valid verification of advertisement effects 17 51.5
h) User-friendly interface 9 27.3
i) Ability to appeal to advertisers with the factors listed above 18 54.5
i) Other (Select this option if you feel there are reasons to do business excluding the above a) to i) ) 1 3.0
k) There is no particular reason - -

Number of respondents 33 -
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Q21. Currently, in the digital advertising market, there seems to be a certain movement
(vertical integration); digital platform operators manage powerful mediums while distributing
advertisements (matching) using ad tech in the backdrop of the said media’s power. Do you
have any concerns about this progression of vertical integration? If so, what concerns do you
have? Please select from the following. [Multiple answers accepted]

0% 10% 20% 30% 40% 50% 60% 70%

a) Digital platform operators select media to their advantage for

ad tech services (advertisement distribution) provided by them _
b) Digital platform operators limit distribution of their media unless

5 viatheir own a tach services S

c) Conditions for competition are unfair for other digital platform
operators, as when advertisement matching is conducted, it is required to

connect to other matching platforms after bidding is decided at their own _

platform
d) As vertical integration occurs, representation of both advertisers and

publishers progresses to trigger conflict of interests for the mediation _

function matchina advertisers and media

e) For ad tech in contract with publishers, digital platform operators that
provide the said ad tech include conditions that interfere _
with ad tech use provided by competitors

f) APl access between competitor companies are unjustly shut _
down, causing data to be fenced in by a digital platform operator

g) Other (Select this option if you feel there are concerns -
excluding the above a) to f) )

h) There is no particular concern _
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Q21. Currently, in the digital advertising market, there seems to be a certain movement
(vertical integration); digital platform operators manage powerful mediums while
distributing advertisements (matching) using ad tech in the backdrop of the said media’s
power. Do you have any concerns about this progression of vertical integration? If so,
what concerns do you have? Please select from the following. [Multiple answers
accepted]

Answers iy O Ratio (%)
answers

a) Digital platform operators select media to their advantage for ad tech services (advertisement

P . 21 63.6
distribution) provided by them
b) Digital platform operators limit distribution of their media unless it is via their own ad tech 16 485
services )
c) Conditions for competition are unfair for other digital platform operators, as when advertisement
matching is conducted, it is required to connect to other matching platforms after bidding is decided 12 36.4
at their own platform
d) As vertical integration occurs, representation of both advertisers and publishers progresses to 10 303
trigger conflict of interests for the mediation function matching advertisers and media )
e) For ad tech in contract with publishers, digital platform operators that provide the said ad tech 6 18.2
include conditions that interfere with ad tech use provided by competitors )
f) APl access between competitor companies are unjustly shut down, causing data to be fenced in by 11 333
a digital platform operator )
g) Other (Select this option if you feel there are concerns excluding the above a) to f) .) 2 6.1
h) There is no particular concern 7 21.2

Number of respondents 33 -
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Q22. When using ad tech services provided by digital platform operators, do you
have a grasp on what type of data you provide to them, or what type of data is
provided from them? [Select one]

0% 10% 20% 30% 40% 50%

a) We know what data we provide and being provided

by them .
b) We know what data we provide, but we do not have
a grasp on what data is provided by them e

c) We know what data is provided by them, but we do not _
have a grasp on what data we are providing

d) We do not know what data we provide and are provided _

by them
Answers I EET Cij Ratio (%)
answers

a) We know what data we provide and being provided by them 14 42.4
b) We know what data we provide, but we do not have a grasp on what data is provided by them 2 6.1
c) We know what data is provided by them, but we do not have a grasp on what data we are 8 24.2
providing )
d) We do not know what data we provide and are provided by them 9 27.3

Number of respondents 33 100.0
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Q22-3. (For those who answered “a) We know what data we provide and are
being provided by them” at Q22) Are you satisfied with the data provided by
the digital platform operation when compared to the data you provide to
them? [Select one]

0% 20% 40% 60% 80% 100%
Google T E———
Yahoo! F e
Facebook |
Twitter
LINE EE e
Others

M a) We are very satisfied M b) We are moderately satisfied [ c) We are not very
satisfied
d) We are not satisfied at all M e) Don’t know
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Q22-3. (For those who answered “a) We know what data we provide and are
being provided by them” at Q22) Are you satisfied with the data provided by
the digital platform operation when compared to the data you provide to
them? [Select one]

Google Yahoo! Facebook Twitter LINE Others
Answers . ~ ~ . ~ ~
ur:fber Ratio ur:fber Ratio ur:fber Ratio ur:fber Ratio ur:fber Ratio ur:fber Ratio
(%) (%) (%) (%) (%) (%)
answers answers answers answers answers answers
a) We are very satisfied
b) We are moderately 7 50.0 5 455 4 40.0 5 455 3 27.3 4 40.0
satisfied
c) We are not very 2 143 2 18.2 2 20.0 2 18.2 3 27.3
satisfied
d) We are not satisfied 1 10.0
at all
e) Don’t know 5 35.7 4 36.4 3 30.0 4 36.4 5 455 6 60.0
Number of respondents 14 100.0 11 100.0 10 100.0 11 100.0 11 100.0 10 100.0




Q23. (For those to answered a) or b) for at least one question out of Q7-2, Q8-2, Q9-2, Q10-3, Q11-2,
Q12-1-2, Q13-2, Q14-2, Q16-1, Q17, Q18-2, and Q19-2) This question is for companies who answered
they have a certain amount of disadvantageous effects due to actions taken by digital platform
operators. Do you believe your company has no choice but to use ad tech services offered by digital
platform operators? If so, please select the reasons from the following. [Multiple answers accepted]

0% 10% 20% 30% 40% 50% 60% 70% 80%
Google —
S —
Yahoo! —
F

Facebook =

s
. F
Twitter
h
ey
LINE
h
I —
Others
h
H a) The ratio of revenue from as tech services in your overall business sale is too large
"'b) There are no other ad tech service providers except the ad tech service provider in question
" c) The human and financial burden of transitioning to another ad tech service is too large
d) The accumulated data (such as transaction data) of the said ad tech service is necessary for business
He) Other (Select this option if you feel there is no other choice to use the current service excluding the above a) to
d))
" f) We do not believe our company has no choice but to use ad tech services in question
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Q23. (For those to answered a) or b) for at least one question out of Q7-2, Q8-2, Q9-2,
Q10-3, Q11-2, Q12-1-2, Q13-2, Q14-2, Q16-1, Q17, Q18-2, and Q19-2) This question is for
companies who answered they have a certain amount of disadvantageous effects due to
actions taken by digital platform operators. Do you believe your company has no choice
but to use ad tech services offered by digital platform operators? If so, please select the
reasons from the following. [Multiple answers accepted]

Google Yahoo! Facebook Twitter LINE others
Answers Numfber Ratio Numfber Ratio Numfber Ratio Numfber Ratio Numfber Ratio Numfber Ratio
o o o o o o o o o o o o
answer 4 answer 4 answer 24 answer 4 answer 4 answer 14

a) The ratio of revenue from as tech
services in your overall business 20 741 10 43.5 12 60.0 6 30.0 8 421 7 36.8,
sale is too large
b) There are no other ad tech
service providers except the ad tech 7 25.9 4 17.4 4 20.0 2 10.0 4 211 5 26.3
service provider in question
c) The human and financial burden
of transitioning to another ad tech 6 22.2 2 8.7 1 5.0 - - - - - -
service is too large
d) The accumulated data (such as
transaction data) of the said ad tech 10 37.0 6 26.1 5 25.0 3 15.0 3 15.8 3 15.8
service is necessary for business
e) Other (Select this option if you
feel there is no other choice to use 5 185 2 8.7 3 150 3 15.0 3 158 2 105
the current service excluding the
above a) to d))
f) We do not believe our company
has no choice but to use ad tech 5 18.5 9 39.1 5 25.0 1 55.0 7 36.8 10 52.6
services in question

Number of respondents 27 23 - 20 - 20 - 19 19 -
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Questionnaire for publishers
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Q1. What is the total number of employees in your company? [Select one]

0% 10% 20% 30% 40%
a) Tenorless
b) 11 to 50 ——
c)51to 100 EE———
d) 101 to 300
e) 301 to 1,000
f) 1,001 or more NN
Answers IR Ratio (%)
answers
B) TON OF 1888 e 2 1.1
D) 0 00 e 3 . 19.5
I S 3 ...207
d) 10110300 5 .....328
e) 301t 1,000 4 17.8
f) 1,001 or more 14 8.0
Number of respondents 174 100.0
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Q2. What is the capital or total amount of investment of your company?

[Select one]

a) 0 yen

b) One yen to ten million yen

c) More than ten million yen
to 50 million yen

d) More than 50 million yen
to 100 million yen

f) More than 300 million yen

e e e 300 million yor NN
to 300 million yen

50%

Answers N:nrzevirr:f Ratio (%)

a) 0yen 2 1.1
b) ...... oneyentotenmnnonyen 6 ........................ 34
c)Morethantenm||||onyent050m||||onyen ..................................................................................................................................................... 19 ...................... 109
d) ...... Morethan50m||||onyento100m||||onyen .................................................................................................................................................... 29 ...................... 167
e)Morethan100m||||onyent0300m||||onyen ................................................................................................................................................. 4 6264
f)Morethan300m||||onyen ............................................................................................................................................................................................. 72414

Number of respondents 174 100.0
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Q3. What is the amount of total sales in your company? Please answer the average
amount of three recent fiscal years. (a rough estimate is acceptable) [Select one]

0

=

10% 20% 30% 40% 50% 60%

a) Ten million yen or less

b) More than ten million yen
to 50 million yen

c) More than 50 million yen .
to 100 million yen

d) More than 100 million yen
to one billion yen

o e O o
to ten billion yen
) ore than e Dillion e

to 100 billion yen

g) More than 100 billion yen

Answers Naunn;‘l‘)vzrr:f Ratio (%)
a) Ten million yen or less - -
b)Morethantenm,|||°nyent050m||||onyen B
c)Morethan50m,||,°nyento100m,|||onyen _____________________________________________________________________________________________________________________________________________________________________ 2 ........................... 1 1
d)Morethan100m,",onyentooneb.".onyen ............................................................................................................................................................... 32 ........................ 134
e)Morethanoneb“"onyenmtenb“"onyen __________________________________________________________________________________________________________________________________________________________________ 89 ________________________ 511
f)Morethantenb,|||onyento100b,|||onyen ................................................................................................................................................................... 33 ........................ 2 13
g)Morethan100b||||onyen ____________________________________________________________________________________________________________________________________________________________________________________________________________ 1 375
Number of respondents 174 100.0 123




Q4. What is the amount of total sales for digital advertising business in your company?
Please answer the average amount of three recent fiscal years. (a rough estimate is
acceptable) [Select one]

a) 0 yen

b) One yen to one million yen

c) More than one million yen
to five million yen

d) More than five million yen
to ten million yen

e) More than ten million yen
to 50 million yen

f) More than 50 million yen
to 100 million yen

g) More than 100 million yen
to one billion yen

h) More than one billion yen
to ten billion yen

i) More than ten billion yen
to 100 billion yen

j) More than 100 billion yen

10%

20%

Answers

Number of
answers

Ratio(%)

i) More than 100 billion yen

Number of respondents

124

30%



Q4-1. How do you expect the ratio of digital advertising business sales to transition within the
overall advertisement sales at your company in the future? [Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80%
a) It is expected
to increase

b) It is expected
to decrease

c) No change is
expected

Answers ATl Ratio(%)
Answers
a) Itis expected to increase 91 66.9
b) Itis expected to decrease 3 2.2
c) No change is expected 42 30.9
Number of respondents 136 100.0
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Q5. How many inventory do you set per a page on websites you operate? (a
rough estimate is acceptable) [Select one]

0%

a) Less than three I

b) three NN

c) More than three
to six

10%

) ore NN S X

to ten

e) More than ten N

20%

40%

Number of| Ratio
Answers
answers (%)
a) Less than three 34 25.0
b) Three 9 6.6
c) More than three to six 53 39.0
d) More than six to ten 26 19.1
e) More than ten 14 10.3
Number of respondents 136 100.0

50%
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Q6. When doing digital advertising business on the website you operate, which
(media) ad server provider do you use? [Multiple answers accepted]

a) In-house (in-house development) [

0%

10%

20%

30%

40%

50%

60%

70%

b) Google |———

c) MoPub |

d) DAC (Digital Advertising Consortium) [N

e) Other ad server providers I

Number of Ratio
Answers 0
answers (%)
a) In-house (in-house development) 31 22.8
b) Google 101 74.3
c) MoPub 1 0.7
d) DAC (Digital Advertising Consortium) 1 8.1
e) Other ad server providers 54 39.7
Number of respondents 136
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a) The charges for using ad servers are cheap or for free

c) Connectivity to ad exchange, SSP or ad network of the

0

=

10% 20%

b) Several ad tech services are integrated
and the ad server is convenient

ad servers is good

d) Interface is user-friendly ]
e) Other N
e) There is no specific reason N

30%

40%

Number of Ratio
Answers
answers (%)
a) The charges for using ad servers are cheap or forfree 1 63 ... 463
b) Several ad tech services are integrated and the ad server is convenient 56 41.2
c) Connectivity to ad exchange, SSP or ad network of the ad servers is good 53 39.0
d)Interface isuser-friendly b 0 74
) OHIIOT e 25 18.4
f) There is no specific reason 21 15.4
Number of respondents 136 -

Q6-2. What are the reasons do you use the ad server provider you answered at Q6?
Please select from the following. [Multiple answers accepted]

50%
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0% 10%
a) Very easy ]

b) Moderately easy

c) Not so easy

d) Not easy

e) Don’t know

20%

Answers Number of Ratio
answers (%)
a) Very easy 6 4.4
b)Moderatelye asy ....................................................................................................................................................................................................... 37 .................... 272
c)NOtso easy ___________________________________________________________________________________________________________________________________________________________________________________________________________________ 36 ____________________ 265
d)NOteasy __________________________________________________________________________________________________________________________________________________________________________________________________________________________ 32 ____________________ 235
e)Don,tknow .................................................................................................................................................................................................................... 2 5 ____________________ 184
Number of respondents 136 100.0

Q6-4. How easy is it for you to switch the ad servers you currently use into other ad
servers? Please select from the following. [Select one]

30%
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Q6-5. (For those who answered c) or d) at Q6-4) What can be a factor which makes switching of
ad servers not easy? Please select from the following. [Multiple answers accepted]

0% 10% 20% 30% 40% 50% 60% 70%
o makos bpportunty ose gt I
which makes opportunity loss high
b) the data you have used is not available for the ad _
server which you would like to switch into
) Youneed o getused to the new ad sorve: I
to use it
d) It is technically difficult to switch [N
e) Other (Select this option if there are factors excluding
the above a) to d) which make switching not easy) _
Number of Ratio
Answers
answers (%)

a) It takes a lot of time to switch, which makes opportunity loss high 40 58.8

b) the data you have used is not available for the ad server which you would like to switch into 27 39.7

c) You need to get used to the new ad server to use it 38 55.9

d) Itis technically difficult to switch 12 17.6

e) Other (Select this option if there are factors excluding the above a) to d) which make switching not 12 17.6

easy) )
Number of respondents 68 -

130



Q7. Select the number of ad tech services products you use in order to do advertising
business on the website you operate. [Select one]

0% 10% 20% 30% 40%
a) One
b) Two
c) Three
d) Four N
e) Five S

]
Uiy

five

Answers Number of Ratio

Answers (%)
a) One 43 31.6
b) ...... - wo .............................................................................................................................................................................................................................. B 103
c) ..... Three ........................................................................................................................................................................................................................... 17 .................... 125
d) ...... ) o 5o
e) ...... R g
f)Morethanflve ________________________________________________________________________________________________________________________________________________________________________________________________________ P 353
Number of respondents 136 100.0
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Q7-1. What is the ratio of revenue from transactions with digital platform operators you use in your
overall digital advertising business sales? Please answer the average amount of three recent fiscal
years per digital platform operator. (a rough estimate is acceptable) [Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

Google .
Yahoo!
Facebook
Twitter | |
LN |
otmers I .

M a) 0% M b) More than 0% to 10% I c¢) More than 10% to 30%
d) More than 30% to 50% M e) More than 50% to 70% M f) More than 70% to 90%
M g) More than 90% to less than 100% M h) 100%
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Q7-1. What is the ratio of revenue from transactions with digital platform operators you use in your
overall digital advertising business sales? Please answer the average amount of three recent fiscal
years per digital platform operator. (a rough estimate is acceptable) [Select one]

Google Yahoo! Facebook Twitter LINE Others
Answers Number of Number of Number of Number of Number of Number of
responden| Ratio (%) |[responden| Ratio (%) [responden| Ratio (%) |[responden| Ratio (%) [responden| Ratio (%) |responden| Ratio (%)
ts ts ts ts ts ts
a) 0% 25 18.4 60 441 103 75.7 111 81.6 90 66.2 5 7.9
b) More than 0% to 10% 30 221 51 37.5 25 18.4 19 14.0 29 21.3 30 47.6
c) More than 10% to 30% 22 16.2 11 8.1 7 5.1 4 29 14 10.3 16 25.4
d) More than 30% to 50% 19 14.0 7 5.1 1 0.7 2 1.5 4 6.3
e) More than 50% to 70% 13 9.6 1 0.7 1 0.7 - 1 1.6
f) More than 70% to 90% 10 7.4 3 2.2 1 0.7 2 3.2
0,

g) More than 90% to less than 10 7.4 3 29 . 1 0.7 3 4.8
100%
h) 100% 7 5.1 - - - 2 3.2

Number of respondents 136 100.0 136 100.0 136 100.0 136 100.0 136 100.0 63 100.0
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Q8. Do contracts for ad tech services offered by digital platform operators contain stipulations as
seen below? [Multiple answers accepted] Please answer this per digital platform operator

0% 10% 20% 30% 40% 50% 60% 70%
I

o ——
—

gl ——
—

Faceboo __

k %

—

Twitter _=
—
e —

B a) Contracts are uniform and cannot be changed based on negotiation
"'b) The said digital platform operators can change contract terms on a discretionary basis
c) Digital platform operators can stop providing their service on a discretionary basis
d) Even if the contract is between two domestic businesses, jurisdiction (such as exclusive court jurisdiction) is established overseas

®e) There is no liability or limited liability for any interruption of services (including system failures) of ad tech services offered by the said digital
platform operators

" f)  Compensation for damage can only be claimed from the said digital platform operators (on a one-way basis)

¥ g) Only the said digital platform operator can audit your company system (on a one-way basis)

® h) Other (Select this option if there are contract items excluding the above a) to g) which you feel are an issue)

i) There are no issues or problematic provisions as seen above 134

=) We have never dealt with any of the said digital platform operators



Q8. Do contracts for ad tech services offered by digital platform operators contain
stipulations as seen below? [Multiple answers accepted]

Google Yahoo! Facebook Twitter LINE Others
Answers Nur:fber Ratio Nur:fber Ratio Nur:fber Ratio Nur:fber Ratio Nur:fber Ratio Nur:fber Ratio
(%) (%) (%) (%) (%) (%)
answers answers answers answers answers answers

a) Coqtrflcts are uniform and cannot be changed based on 7 522 42 30.9 33 24.3 26 191 28 20.6 25 39.7
negotiation
b) The sa!ld digital QIatform operators can change contract terms on 33 24.3 27 19.9 15 1.0 9 6.6 12 8.8 12 19.0
a discretionary basis
c)_ Dlglt.al platform_ operators can stop providing their service on a 37 27.2 27 19.9 14 10.3 8 5.9 1 8.1 13 20.6
discretionary basis
d) Even if the contract is between two domestic businesses,
jurisdiction (such as exclusive court jurisdiction) is established 20, 14.7 2 1.5 10 7.4 9 6.6 2 1.5 4 6.3
overseas
e) There is no liability or limited liability for any interruption of
services (including system failures) of ad tech services offered by 30 221 18 13.2 13 9.6 8 5.9 6 4.4 10 15.9
the said digital platform operators
f)_C.ompensatlon for damage can only be cla!med from the said 5 3.7 2 15 3 29 3 29 1 0.7 4 6.3
digital platform operators (on a one-way basis)
g) Only the said digital pla.tform operator can audit your company 6 4.4 4 29 3 22 2 15 2 15 2 3.2
system (on a one-way basis)
h) Other (Select tl_1is option if there are contract items excluding the 3 22 6 4.4 2 15 2 15 3 29 1 16
above a) to g) which you feel are an issue)
i) There are no issues or problematic provisions as seen above 30 221 28 20.6 13 9.6 13 9.6 25 18.4 22 34.9
i) We have never dealt with any of the said digital platform 17 12.5 47 34.6 84 61.8 89 65.4 7 522 4 6.3
operators

Number of respondents 136 - 136 - 136 - 136 - 136 - 63 -




Q8-2. (For those who answered a) to h) at Q8) How does the contract impact your business
activities? [Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

Google
Yahoo!
Facebook
Twitter

LINE

Others

M a) It had a serious impact on business activities M b) It had a moderate impact on business activities
[ c) It had only a slight impact on business activities | d) There had been no impact on business activities
M e) Don’t know
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Q8-2. (For those who answered a) to h) at Q8) How does the contract impact your business
activities? [Select one]

Google Yahoo! Facebook Twitter LINE Others
Answers
Number off Ratio |Number off Ratio |Number off Ratio |Number off Ratio |Number off Ratio |Number off Ratio
answers (%) answers (%) answers (%) answers (%) answers (%) answers (%)
@) It had a serious impact on 2 2.2 2 3.3 1 2.6 . . 2 5.0 . .
business activities
b) It had a moderate impact on 9 10.1 5 8.2 4 10.3 4 11.8 1 2.5 2 5.3
business activities
¢) It had only a slight impact on 23 25.8 19 31.1 10 25.6 1 32.4 14 35.0 3 7.9
business activities
d) There had been no impact 38 42.7 19 31.1 14 35.9 10 29.4 10 25.0 23 60.5
on business activities
e) Don’t know 17 19.1 16 26.2 10 25.6 9 26.5 13 32.5 10 26.3
Number of respondents 89 100.0 61 100.0 39 100.0 34 100.0 40 100.0 38 100.0
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Q9. When using the ad tech services provided by digital platform operators, did you experience
any of the following changes with transition to the said ad tech service system? [Multiple
answers accepted]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

|

Google

|

Yahoo!

Facebook

Twitter

|

LINE

Others

®'a) We struggled to correspond to the sudden system change
“ b) Reasons for the system change were not clearly stated
“c) Company wishes were not reflected in the system change
d) Other (Select this option if there are issues in system change excluding the above a) to c))

“e) There are no issues, and no problems as seen above
138



Q9. When using the ad tech services provided by digital platform operators, did you experience
any of the following changes with transition to the said ad tech service system? [Multiple
answers accepted]

Google Yahoo! Facebook Twitter LINE Others
Answers Number off Ratio |[Number off Ratio [Number off Ratio |Number off Ratio |Number off Ratio |Number of| Ratio
answers (%) answers (%) answers (%) answers (%) answers (%) answers (%)

a) We struggled to correspond to 35 29.4 6 6.7 11 21.2 6 12.8 4 6.2 2 3.3
the sudden system change

b) Reasons for the system change 14 11.8 5 5.6 8 15.4 3 6.4 1 15 1 i
were not clearly stated

¢) Company wishes were not 19 16.0 14 15.7 12 23.1 6 12.8 10 15.4 2 3.3

reflected in the system change

d) Other (Select this option if there
are issues in system change 1 0.8 1 1.1 - - 1 21 - - - -
excluding the above a) to c))

e) There are no issues, and no
problems as seen above

Number of respondents 119 - 89 - 52 - 47 - 65 - 60 -
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Q9-2. (For those who answered a) to d) at Q9) How does that impact your business activities?
[Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
Google HEIEEEEEEEE——— I

Yahoo! NI I
Facebook NN " |
Twitter T |
LINE mEmmmmmmm s |
Others
M a) It had a serious impact on business activities I b) It had a moderate impact on business activities

¥ c) It had only a slight impact on business activities d) There had been no impact on business activities
M e) Don’t know

Google Yahoo! Facebook Twitter LINE Others
Answers Number Ratio Number Ratio Number Ratio Number Ratio Number Ratio Number Ratio
o ) o ®) OF ®) OF ®) of ®) OF )
answers answers answers answers answers answers

a) Ithad a serious impact on 1 2.4 1| 48 2 118 - - - - - -
business activites | &
b) It had a moderate impact 21 51.2 5 23.8 a  17.6 i 231 d 143 | 25.0
on business activites | % °L4 9 &R A AT
©) It had only a slight impact 120 20.3 120 57.1 1 #.2 5| 385 g 571 2 50.0
on business activities

d) There had been no impact 3 7.3 2 9.5 J  11.8 J 154 1 7.1 | 250
on business activites | % &S A A A e
e) Don’t know 4 9.8 1 4.8 176 i 231 a 214 - -

Number of respondents 41l 100.0 21 100.0 17 100.0 13 100.0 14 100.0 4 100.0 140




Q10. When (publisher) ad servers you use request distribution of advertisements to ad tech
services, have you felt that the ad servers preferentially request distribution to a specific digital
platform operator which provides ad tech services? [Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
Googe | S
Y ahoo! I
Faacebook [N S
Twitter [
LN
Others |

¥ a) Yes
" b) No
“ c) Don’t know

d) We have never felt that because we use in-house ad servers

Google Yahoo! Facebook Twitter LINE Others
Answers Nur:fber Ratio Nur:fber Ratio Nur:fber Ratio Nur:fber Ratio Nur:fber Ratio Nur:fber Ratio
(%) (%) (%) (%) (%) (%)
answers answers answers answers answers answers
a) Yes 28 23.5 7 7.9 2 3.8 2 4.3 2 31 4 6.7
b) No 40 33.6 37 41.6 21 40.4 18 38.3 26 40.0 30 50.0
c) Don’t know 51 42.9 44 49.4 29 55.8 26 55.3 36 55.4 26 43.3
d) We have never felt that
because we use in-house ad - - 1 1.1 - - 1 21 1 1.5
servers
141
Number of respondents 119 100.0 89 100.0 52 100.0 47 100.0 65 100.0 60 100.0




Q10-1. (For those who answered “a) Yes” at Q10) Can you change the settings that ad servers
request distribution preferentially? Have you ever changed them indeed? [Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

Google

Yahoo!
Facebook
Twitter

LINE

Others

¥ a) We can change them and have done it

“'b) We can change them but we have not done it because it is beneficial for us
c) We can change them but we have not done it because we don’t know how to do it
d) We can change them but we have not done it because it is time-consuming

¥e) We cannot change them

“f) Others

¥ g) Don’t know
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Q10-1. (For those who answered “a) Yes” at Q10) Can you change the settings that ad servers
request distribution preferentially? Have you ever changed them indeed? [Select one]

Google Yahoo! Facebook Twitter LINE Others
Answers Number of| Ratio [Number off Ratio |Number off Ratio |Number off Ratio [(Number off Ratio |Number off Ratio
answers (%) answers (%) answers (%) answers (%) answers (%) answers (%)
a) We can change them and have 8 28.6 i 1 1 i . . 1 i i i
done it
b) We can change them but we
have not done it because it is 6 21.4 - - - - - - - - - -
beneficial for us
c) We can change them but we
have not done it because we 2 71 2 25.0 1 33.3 1 33.3 - - - -
don’t know how to do it
d) We can change them but we
have not done it because it is time- 1 3.6 1 12.5 - - - - 1 333 1 20.0
consuming
e) We cannot change them 6 21.4 2 25.0 - - - - - - 1 20.0
f) Others - - - - - - - - - - - -
g) Don’t know 5 17.9 3 37.5 2 66.7 2 66.7 2 66.7 3 60.0
Number od respondents 28 100.0 8 100.0 3 100.0 3 100.0 3 100.0 5 100.0
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Q11. When the ad server you use has a predetermined order for making ad requests within the
ad server (e.g. pure ads, private marketplaces, ad exchanges, ad networks are requested in that
order), can you change the order in-house (including system or contract reasons)? Have you
ever changed it indeed? [Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

Google N
Yahoo! - |
Facebook |
Twitter |
LN 0
others I

¥ a) We can change it and have done it
"'b) We can change it but we have not done it because it is beneficial for us
¥ c) We can change it but we have not done it because we don’t know how to do it
d) We can change it but we have not done it because it is time-consuming
" e) We cannot change them
"f)  We don’t use the ad server which has the predetermined order for making ad requests
B g) Others

® h) Don’t know

144



Q11. When the ad server you use has a predetermined order for making ad requests within the
ad server (e.g. pure ads, private marketplaces, ad exchanges, ad networks are requested in that
order), can you change the order in-house (including system or contract reasons)? Have you
ever changed it indeed? [Select one]

Google Yahoo! Facebook Twitter LINE Others
Answers Number off, Ratio |Number off Ratio [Number off Ratio |Number off Ratio |Number off Ratio |Number off Ratio
Answers (%) answers (%) answers (%) answers (%) answers (%) answers (%)
a) We can change it and have done 37 31.1 10 11.4 5 9.6 6 12.8 6 9.2 15 25.4
it
b) We can change it but we have
not done it because it is beneficial 8 6.7 5 5.7 3 5.8 2 4.3 4 6.2 7 11.9

for us
c) We can change it but we have
not done it because we don’t know 1 0.8 2 2.3 1 1.9 1 21 1 1.5
how to do it

d) We can change it but we have

not done it because it is time- 4 3.4 1 1.1 - - - - - - 2 3.4
consuming
e) We cannot change it 17 14.3 13 14.8 6 11.5 5 10.6 9 13.8 8 13.6

f) We don’t use the ad server which
has the predetermined order for 13 10.9 16 18.2 1 21.2 8 17.0 10 15.4 1 18.6
making ad requests

g) Others 4 3.4 3 3.4 2 3.8 3 6.4 2 3.1 2 3.4
h) Don’t know 35 29.4 38 43.2 24 46.2 22 46.8 33 50.8 14 23.7
Number of respondents 119 100.0 88 100.0 52 100.0 47 100.0 65 100.0 59 100.0

145



Q11-2. (For those who answered c), d), e),or g) at Q11) When there is a predetermined order for
making ad requests within the ad server and the ad requests are done in that order, how does it
impact your business activities ? [Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

Google M
Yahoo! FENIIE . —
Facebook [ .
Twitter [ e
LINE D e
Others " e

M a) It had a serious impact on business activities M b) It had a moderate impact on business activities
[ c) It had only a slight impact on business activities [ d) There had been no impact on business activities
M e) Don’t know
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Q11-2. (For those who answered c), d), e),or g) at Q11) When there is a predetermined order for
making ad requests within the ad server and the ad requests are done in that order, how does it
impact your business activities ? [Select one]

Google Yahoo! Facebook Twitter LINE Others
Answers
Nur:fber Ratio Nur:fber Ratio Nur:fber Ratio Nur:fber Ratio Nur:fber Ratio Nur:fber Ratio
(%) (%) (%) (%) (%) (%)
answers answers answers answers answers answers
a) It had a serious impact on
business activities
b)) _It had a rr_lo'd'erate impact on 3 11.5 1 5.3
business activities
c) It had only a slight impact on 5 19.2 4 21.1 3 33.3 3 33.3 4 33.3
business activities
d) There had been no impact on 12 46.2 8 42.1 4 44.4 5 55.6 4 33.3 10 83.3
business activities
e) Don’t know 6 23.1 6 31.6 2 22.2 1 1.1 4 33.3 2 16.7
Number of respondents 26 100.0 19 100.0 9 100.0 9 100.0 12 100.0 12 100.0
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Q12. When using the ad tech services provided by digital platform operators, did you experience any
of the following? [Multiple answers accepted]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

Google _=
Yahoo!
Facebook .
Twitter
LINE _
Others ™=
" a) Digital platform operators prohibited use of other third-party services
“ b) Staff from the digital platform operators told us not to use third-party services (Explicitly or
implicitly)
c) Consultation to digital platform operators was necessary when using a third-party service
that is not an ad tech service provided by them.
d) There was no clear explanation on why an account was suspended
“e) Other (Select this option if there were issues in using third-party services excluding the
above a) to d))
“f) There were no issues, and no problems as seen above
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Q12. When using the ad tech services provided by digital platform operators, did you experience any
of the following? [Multiple answers accepted]

Answers Google Yahoo! Facebook Twitter LINE Others
Number | Ratio (%) | Number [Ratio (%)| Number [Ratio (%)| Number |Ratio (%) | Number |Ratio (%) | Number |Ratio (%)
of of of of of of
answers answers answers answers answers answers

a) Digital platform operators prohibited use of
other third-party services 3 25 6 6.7 1 i 1 i 1 15 1 1.7
b) Staff from the digital platform operators
told us not to use third-party services
(Explicitly or implicitly) 3 2.5 5 5.6 - - - - - - 3 5.0
c) Consultation to digital platform operators
was necessary when using a third-party
service that is not an ad tech service provided il ) 2 2.2 7 ) il 7 7 7 ) )
by them.
d) There was no clear explanation on why an
account was suspended 2 1.7 - - 1 1.9 1 21 - - - -
e) Other (Select this option if there were
issues in using third-party services excluding 2 1.7 3 3.4 2 3.8 2 4.3 3 4.6 2 3.3
the above a) to d) )
f) There were no issues, and no problems as 110 92.4 76 854 49 942 44 936 61 93.8 55 9017
seen above

Number of respondents 119 - 89 - 52 - 47| - 65 - 60 -
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Q12-2. (For those who answered a) to e) at Q12) How did this impact your business activities? [Select

one]
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
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M

Others M

M a) It had a serious impact on business activities & b) It had a moderate impact on business activities

I c) It had only a slight impact on business activities d) There had been no impact on business activities

M e) Don’t know

Google Yahoo! Facebook Twitter LINE Others
Answers Number | Ratio (%) | Number | Ratio (%) | Number | Ratio (%) | Number | Ratio (%) | Number | Ratio (%) | Number | Ratio (%)
of of of of of of
answers answers answers answers answers answers

a) It.had a se.rlc_n_Js impact on 2 222 1 i . 1 i 1 . 1
business activities
b) It had a moderate impact on 3 333 6o  46.2 : . . 11 200
business activities
c) It had only a slight impact on
d) T_here had_b_efzn no impact on 1 111 1 7.7 il 1 1 1 20.0
business activities
e) Don’t know 1 1.1 3 23.1 2 66.7 2 66.7 2 50.0 1 20.0

Number of respondents 9 100.0 13 100.0 3 100.0 3 100.0 4 100.0 5 100.0
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Q13. When you provide (sell) inventories to the ad tech services provided by digital platform operators,
have you ever been requested to provide the most profitable inventory in the inventories you have by
the said digital platform operators? [Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

Google T
Yahoo! NS
Facebook NS e
Twitter EEEEEEEEEEEEEEEEEEEEEEEEEEETTTTETTTTTTTTe
LINE B
Others HE
¥ a) Yes “b) No “ c) Don’t know
Google Yahoo! Facebook Twitter LINE Others
Answers Number Number Number Number Number Number
of Ratio of Ratio of Ratio of Ratio of Ratio of Ratio
answer| (%) |answer| (%) |answer| (%) |answer| (%) |answer| (%) |answer| (%)
s s s s s s
a) Yes 15 12.6 1 12.4 4 7.7 2 4.3 3 4.6 4 6.7
b) No 92 77.3 66 74.2 37 71.2 33 70.2 48 73.8 47 78.3
c) Don’t know 12 10.1 12 13.5 1 21.2 12 25.5 14 21.5 9 15.0
Number of respondents 119, 100.0 89| 100.0 52 100.0 47/ 100.0 65 100.0 60/ 100.0 ;54




Q13-1. (For those who answered “a) Yes” at Q13) did you accept it? [Select one]

100%

0% 20% 40% 60% 80%
Google IR
Yahoo! HET———_—_—————
Facebook HETTTTTSS——_ee
Twitter HE——_—_—_—GTTTTTTTeeee
Others TS
¥ a) Yes “b) No
Google Yahoo! Facebook Twitter LINE Others
Answers Numb Numb Numb Numb Numb Numb
ur:f r Ratio ur:f rl Ratio ur:f r Ratio ur:f rl Ratio ur:f r| Ratio ur:f rl Ratio
(%) (%) (%) (%) (%) (%)
answers answers answers answers answers answers
a) Yes 11 73.3 8 72.7 3 75.0 1 50.0 3| 100.0 3 75.0
b) No 4 26.7 3 27.3 1 25.0 1 50.0 1 25.0
Number of respondents 15/ 100.0 11 100.0 4 100.0 2| 100.0 3] 100.0 4 100.0
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Q13-2. (For those who answered “a) Yes” at Q13) How does the contract impact your business

activities? [Select one]
0% 10% 20% 30% 40% 50%

Google I
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M a) It had a serious impact M b) It had a moderate impact
on business activities on business activities

d) There had been no impact M e) Don’t know
on business activities

60%

70%

80%

90%

I c) It had only a slight impact

on business activities

100%

Google Yahoo! Facebook Twitter LINE Others
LB Number of | Ratio (%) |Number of | Ratio (%) | Number of | Ratio (%) |Number of | Ratio (%) |Number of | Ratio (%) | Number of | Ratio (%)
answers answers answers answers answers answers

a) It had a serious impact on business 1 9.1
activities - N . - - - - - - - -
b) It had a moderate impact on
businoss activitins 4 267 2l 182 - - - - 1 25.0 1 250
c) It had only a slight impact on
business activities 3 20.0 1 9.1 1 20.0 1 33.3 1 25.0 1 25.0
d) There had been no impact on
business ctivitios 3 200 3 273 2 400 1 333 1 25.0 1 250
e) Don’t know 5 33.3 4 36.4 2 40.0 1 333 25.0 1 25.0

Number of respondents 15 100.0 1 100.0 5 100.0 3 100.0 4 100.0 4 100.0




Q14. When using the ad tech services provided by digital platform operators to distribute advertisements,
was there a case in which they suggested you to control the floor price? [Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
Google IS T
Yahoo! HEEENmwm————_—_—_—_—_—_——
Facebook N

Twitter B

¥ a) Yes
“ b) No
“ c) Don’t know

d) We have never used ad exchange provided by the said digital platform operators

Google Yahoo! Facebook Twitter LINE Others
Answers Number| Ratio |[Number| Ratio [Number| Ratio |Number| Ratio |[Number| Ratio |Number| Ratio
of (%) of (%) of (%) of (%) of (%) of (%)
answers answers answers answers answers answers
a) Yes 32 26.9 6 6.7 1 1.9 1 21 1 1.5 6 10.0
b) No 47 39.5 50 56.2 23 44.2 19 40.4 28 43.1 38 63.3
c) Don’t know 27 22.7 19 21.3 13 25.0 12 25.5 17 26.2 10 16.7
d) We have never used ad
exchange provided by the 13 109 14 157 15 288 15 319 19 292 6  10.0
said digital platform
operators
Number of respondents 119 100.0 89 100.0 52 100.0 47 100.0 65 100.0 60 100.0 154




Q14-1. (For those who answered “a) Yes” at Q14) Did you accept it? [Select one]

0% 20% 40% 60% 80% 100%
Google NI
Yahoo! I

Facebook I
Twitter N
LINE
Ot e TS
¥ a) Yes “b) No

Google Yahoo! Facebook Twitter LINE Others
Answers Number Number Number Number Number Number
of Ratio of Ratio of Ratio of Ratio of Ratio of Ratio
answer| (%) |answer| (%) |answer| (%) |answer| (%) |answer| (%) [answer| (%)
s s s s s s
a) Yes 26 81.3 4 66.7 - - 1 100.0 - - 4 66.7
b) No 6 18.8 2 33.3 1 100.0 - - 1 100.0 2 333
Number of respondents 32 100.0 6 100.0 1 100.0 1 100.0 1 100.0 6 100.0
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Q14-1-2. (For those who answered a) at Q14-1) How does accepting floor price control impact your
business activities? [Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

Google ]
Yahoo!

Facebook

Twitter FE

LINE
Others I
M a) It had a serious impact ¥ b) It had a moderate impact ¥ c) It had only a slight impact

on business activities on business activities on business activities

d) There had been no impact M e) Don’t know

on business activities

Google Yahoo! Facebook Twitter LINE Others
Answers Number | Ratio (%) | Number | Ratio (%) | Number | Ratio (%) | Number | Ratio (%) | Number | Ratio (%) | Number | Ratio (%)
of of of of of of
answers answers answers answers answers answers
a) It had a serious impact on
business activities 7 7 7 7 7 7 7 7 7 7 7 7
b) It had a moderate impact on
business activities 12 46.2 1 25.0 - - 1 100.0 - - 1 25.0
c) It had only a slight impact on
business activities 2 7.7 - - - - - - - - 2 50.0
d) There had been no impact on
business activities 7 26.9 7 ] 7 7 ] 7 7 ] 7 7
e) Don’t know 5 19.2 3 75.0 - - - - - - 1 25.0
Number of respondents 26| 100.0 4 100.0 - - 1 100.0 - - 4 100.0 156




Q15. When an inventory auction is conducted in ad exchanges provided by digital platform operators,
have you felt that the said digital platform operators have a grasp on bidding price of other bidders
beforehand and use this information in these auctions? [Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
Google NI
Yahoo! M
Facebook [
Twitter I
LINE e
Others g
¥ a) Yes “'b) No “ c) Don’t know
d) We have never used the ad exchange provided by the said digital platform operators
Google Yahoo! Facebook Twitter LINE Others
Answers Number of| Ratio | Number of | Ratio |[Number of{ Ratio | Number of | Rati Number of| Ratio | Number of | Ratio
answers | (%) answers (%) answers | (%) | answers |0 (%) answers | (%) | answers | (%)

a) Yes 8 6.7 4 4.5 - - - - 1 1.7
b) No 500 42.0 37 41.6 19| 36.5 16| 34.0 26| 40.0 35 58.3
c) Don’t know 46| 38.7 36 40.4 23 442 20| 42.6 26) 40.0 15 25.0
d) We have never the
used ad exchange
provided by the said 15 12.6 12 13.5 100 19.2 11| 23.4 13 20.0 9 15.0
digital platform
operators

Number of 119 100.0 8ol  100.0 52| 100.0 47| 100.0 65 100.0 60|  100.0

respondents
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Q15-2. (For those who answered “a) Yes” at Q15) Did your company suffer disadvantages due to this

activity? [Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
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B a) There were major disadvantages

disadvantages

d) There were no disadvantages

M e) Don’t know

M b) There were moderate disadvantages

% ¢) There were almost no

Google Yahoo! Facebook Twitter LINE Others
Answers Number [Ratio (%)| Number [Ratio (%)| Number [Ratio (%)| Number |Ratio (%)| Number |Ratio (%)| Number |Ratio (%)
of of of of of of
answers answers answers answers answers answers
a) There were major
! 1 12.5 - - - - - - -
disadvantages
b? There were moderate 1 12.5 1 25.0 | | ) i 1 50.0
disadvantages
¢) There were almost no 2 25.0 1 25.0 1 100.0 1 100.0 1 100.0 1 50.0
disadvantages
d) There were no
. 1 12.5 - - - - - - .
disadvantages
e) Don’t know 3 37.5 2 50.0 - - - - -
Number of respondents 8 100.0 4 100.0 1 100.0 1 100.0 1 100.0 2 100.0
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Q16. How do you feel about the information disclosed from the said digital platform operators when

using ad tech services to distribute advertisements? Please select from the following. [Multiple answers
accepted]

0% 10% 20% 30% 40% 50% 60% 70% 80%
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B a) There was a lack of disclosure on information related to bidding results, it cannot be taken into consideration in the following bidding
as a precedent

"'b) There was a lack of disclosure on ad fraud, making verification impossible
B¢c) There was no detailed breakdown of the fees paid to the said digital platform operators

d) Even if disclosed information was adequate, the interface provided by the said digital platform operator was too complex, making it
difficult to use necessary information

He) Other (Select this option if you feel there were issues in information disclosure excluding the above a) to d) )

= f) We do not have complaints
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Q16. How do you feel about the information disclosed from the said digital platform operators
when using ad tech services to distribute advertisements? Please select from the following.
[Multiple answers accepted]

Answers Google Yahoo! Facebook Twitter LINE Others

Number of| Ratio (%) |Number of{ Ratio (%) |Number of{ Ratio (%) [Number of| Ratio (%) |Number of| Ratio (%) |Number of| Ratio (%)
answers answers answers answers answers answers

a) There was a lack of disclosure on information related
to bidding results, making applying information to future 26 21.8 17 19.1 6 1.5 6 12.8 6 9.2 11 18.3
bidding impossible ' . . . . .

b) There was a lack of disclosure on ad fraud, making
verification impossible 30 25.2 23 25.8 9 17.3 5 10.6 9 13.8 10 16.7

c) There was no detailed breakdown of the fees paid to
the said digital platform operators 29 24.4 26 29.2 10 19.2 8 17.0 9 13.8 10 16.7

d) Even if disclosed information was adequate, the

interface provided by the said digital platform operator
was too complex, making it difficult to use necessary 13 10.9 11 12.4 4 7.7 4 8.5 4 6.2 6 10.0
information

e) Other (Select this option if you feel there were issues

in information disclosure excluding the above a) to d) ) 3 2.5 3 34 . y b 7 y b 1 1.7
f) We do not have complaints 68 571 47 52.8 34 65.4 31 66.0 46 70.8 42 70.0
Number of respondents 119 - 89 - 52 - 47 - 65 - 60 -
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Q16-2. (For those who answered a) to e) at Q16) Did your company suffer disadvantages due
to this? [Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
Google NN I —
Yahoo! EEN I —
Facebook NN |
Twitter |
LINE FE -
Others T ]

M a) There were major disadvantages

disadvantages

d) There were no disadvantages

M e) Don’t know

M b) There were moderate disadvantages

¥ ¢) There were almost no

Google Yahoo! Facebook Twitter LINE Others
Answers Number |Ratio (%)| Number (Ratio (%)| Number [Ratio (%) Number [Ratio (%)| Number |Ratio (%)| Number |Ratio (%)
of of of of of of
answers answers answers answers answers answers

a? There were major 3 5.9 2 48 2 1.1 | i i i i
disadvantages

b) There were moderate 16 31.4 11 26.2 3 16.7 3 18.8 4 21.1 2 111
disadvantages

¢) There were almost no 12 23.5 10 23.8 5 27.8 5 31.3 8 42.1 6 33.3
disadvantages

d) There were no 6 11.8 5 11.9 3 16.7 2 12.5 2 10.5 3 16.7
disadvantages

e) Don’t know 14 27.5 14 33.3 5 27.8 6 375 5 26.3 7 38.9

Number of respondents 51 100.0 42 100.0 18 100.0 16 100.0 19 100.0 18 100.0
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Q17. What are your feelings about the transparency of supply chains (overall connections from
advertisers to publishers) of ad tech services provided by digital platform operators which are
in use in your company? Please select from the following. [Multiple answers accepted]
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¥ a) There is a need to heighten transparency for business transactions and fees

“'b) There is a need to heighten transparency for commission and costs

“c) There is a need to heighten transparency for pages and media publishing advertisements
d) There is a need to heighten transparency for data-related factors

" e) Other (Select this option if you feel there are issues in supply chain transparency excluding the above a)
tod))

“f) We do not have complaints
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Q17. What are your feelings about the transparency of supply chains (overall connections from
advertisers to publishers) of ad tech services provided by digital platform operators used by your
company? Please select from the following. [Multiple answers accepted]

Google Yahoo! Facebook Twitter LINE Others
Answers Number | Ratio (%) | Number | Ratio (%) | Number | Ratio (%) | Number | Ratio (%) | Number | Ratio (%) | Number | Ratio (%)
of of of of of of
answers answers answers answers answers answers

a) There is a need to
heighten transparency for 50,  42.0 37 416 13 25.0 11 23.4 19  29.2 11 18.3
business transactions and
fees
b) There is a need to
heighten transparency for 46 38.7 35 39.3 13 25.0 11 23.4 17 26.2 18 30.0
commission and costs
c) There is a need to
heighten transparency for 25|  21.0 18 20.2 8  15.4 5 106 9  13.8 11 18.3
pages and media publishing
advertisements
d) There is a need to
heighten transparency for 42 35.3 33 371 14 26.9 12 25.5 16 24.6 14 23.3
data-related factors
e) Other (Select this option if
you feel there are issues in
supply chain transparency - - - - - - - - - - - -
excluding the above a) to d) )
f) We do not have complaints 55 46.2 38 42.7 30 57.7 29 61.7 37 56.9 38 63.3

Number of respondents 119 - 89 - 52 - 47 - 65 - 60 -
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Q17-2. (For those who answered a) to e) at Q17) Did your company suffer disadvantages due to this?

[Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
Google - IS N
Y aioo! [ e
Facebook NN
Twitter I I
LINE 0
Others. 5 I

M a) There were major disadvantages

d) There were no disadvantages

M e) Don’t know

M b) There were moderate disadvantages [ c) There were almost no disadvantages

Google Yahoo! Facebook Twitter LINE Others
Answers Number| Ratio |Number| Ratio |[Number| Ratio [Number| Ratio |Number| Ratio |Number| Ratio
of (%) of (%) of (%) of (%) of (%) of (%)
answers answers answers answers answers answers

a? There were major 4 6.3 2 3.9 2 9.1 1 5.6 1 3.6
disadvantages
b? There were moderate 22 34.4 18 35.3 6 27.3 4 22.2 9 321 6 27.3
disadvantages
c? There were almost no 10 15.6 1 21.6 5 22.7 6 33.3 8 28.6 7 31.8
disadvantages
d? There were no 6 9.4 4 7.8 1 45 2 1.1 2 741 3 13.6
disadvantages
e) Don’t know 22 344 16 31.4 8 36.4 5 27.8 8 28.6 6 27.3

Number of respondents 64 100.0 51 100.0 22 100.0 18 100.0 28 100.0 22 100.0
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Q18. What are your feelings about measures taken against ad fraud (generation of invalid impressions
and clicks generated by bots to earn unjust ad income) by ad tech services provided by digital platform
operators used by your company? Please select from the following. [Multiple answers accepted]
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| a)
| b)
| C)

d)
| e)

=)

0% 10% 20% 30% 40% 50% 60% 70% 80%

M

There was a lack of information disclosure on ad fraud

There was insufficient verification of traffic to uncover ad fraud

There was lack of preventive measures for ad fraud

The timing of refunds is opaque when ad fraud is discovered

Other (Select this option if you feel there were issues in ad fraud excluding the above a) to d))

We do not have complaints 165



Q18. What are your feelings about measures taken against ad fraud (generation of invalid impressions
and clicks generated by bots to earn unjust ad income) by ad tech services provided by digital platform

operators used by your company? Please select from the following. [Multiple answers accepted]

Google Yahoo! Facebook Twitter LINE Others
Answers Number |Ratio (%)| Number |Ratio (%)| Number |Ratio (%)| Number [Ratio (%)| Number |[Ratio (%)| Number [Ratio (%)
of of of of of of
answers answers answers answers answers answers

a) There was a lack of
information disclosure on ad 34 28.6 27 30.3 12 23.1 9 19.1 11 16.9 13 21.7
fraud
b) There was insufficient
verification of traffic to 19 16.0 14 15.7 9 17.3 6 12.8 5 7.7 4 6.7
uncover ad fraud
c) There was lack of preventive
measures for ad fraud 21 17.6 18 20.2 10 19.2 6 12.8 7 10.8 1 1.7
d) The timing of refunds is
opaque when ad fraud is 25 21.0 16 18.0 8 15.4 6 12.8 6 9.2 6 10.0
discovered
e) Other (Select this option if
you feel there were issues in i | i | | |
ad fraud excluding the above
a)tod))
g) We do not have complaints 69 58.0 49 55.1 30 57.7 29 61.7 43 66.2 44 73.3
Number of respondents 119 89 52 - 47 65 60 -
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Q18-2. (For those who answered a) to e) at Q18) Did your company suffer disadvantages due to this?
[Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
Google W I
Yahoo! W |

Facebook NI I
Twitter T |
LINE |
Others i .
M a) There were major disadvantages M b) There were moderate disadvantages ¥ c¢) There were almost no
disadvantages
d) There were no disadvantages M e) Don’t know
Google Yahoo! Facebook Twitter LINE Others
Answers Number| Ratio |Number| Ratio |[Number| Ratio |Number| Ratio |Number| Ratio |Number| Ratio
of (%) of (%) of (%) of (%) of (%) of (%)
answers answers answers answers answers answers
az There were major 2 4.0 1 25 1 45 | i i |
disadvantages
b) There were moderate 14 280 o 225 71 318 5 278 4 182 1 6.3
disadvantages
¢) There were almost no 9  18.0 1| 215 5 227 5 278 5 227 3 188
disadvantages
d) There were no 7 140 4 100 3 136 2 114 4 182 1 6.3
disadvantages
e) Don’t know 18 36.0 15 37.5 6 27.3 6 33.3 9 40.9 11 68.8
Number of respondents 50,  100.0 40,  100.0 22 100.0 18/  100.0 22 100.0 16/  100.0 167




Q19. When using ad tech services provided by digital platform operators, were there any limitations
imposed by the said digital platform operators, in access to necessary data (e.g., data to be used for

advertisement efficiency verification) for advertisement distribution (or agency businesses for ad
agencies) ? [Select one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90%  100%

Google

.
Yahoo! e
Facebook NI

Twitter I
LINE B

Others T

M a)Yes M b)No [ c)Don’tknow

Google Yahoo! Facebook Twitter LINE Others
Answers Number| Ratio |Number| Ratio |[Number| Ratio [Number| Ratio |Number| Ratio [Number| Ratio
of (%) of (%) of (%) of (%) of (%) of (%)
answers answers answers answers answers answers
a) Yes 3 2.5 1 1.1 1 1.9 1 21 1 1.5 2 3.3
b) No 69 58.0 50 56.2 26 50.0 22 46.8 33 50.8 45 75.0
c) Don’t know 47 39.5 38 42.7 25 48.1 24 51.1 31 47.7 13 21.7
Number of respondents 119  100.0 89  100.0 52/  100.0 47, 100.0 65  100.0 60  100.0
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Q19-2. (For those who answered “a) Yes” at Q19) How did this impact your business activities? [Select

one]
0% 10% 20% 30% 40% 50% 60% 70% 80% 90%  100%

Google e —
Yahoo! I ——
EECI @
T Wit
LT IN
Others M@ @ hhhhwwwwwwmwwwwmwmwmwmwmwmwmwmamammee

M a) It had a serious impact on business activities I b) It had a moderate impact on business activities
I c) It had only a slight impact on business activities d) There had been no impact on business activities
M e) Don’t know

Google Yahoo! Facebook Twitter LINE Others
Answers Number |Ratio (%)| Number |Ratio (%)| Number |Ratio (%)| Number |Ratio (%)| Number |Ratio (%)| Number |Ratio (%)
of of of of of of
answers answers answers answers answers answers
a) It had a serious impact on 1 il _ _ 1 il i _ il 1 i
business activities
b) It.had a mc.>d_e.rate impact on 1 33.3 1 100.0 . i . . . . i .
business activities
c) It had only a slight impact on
business activities 1 33.3 b 7 7 b b b 7 7 N b
d) There had been no impact on 1 . . . 1 . . . . 1 .
business activities
e) Don’t know 1 33.3 - - 1 100.0 1 100.0 1 100.0 2 100.0
Number of respondents 3 100.0 1 100.0 1 100.0 1 100.0 1 100.0 2 100.0 169




Q20. Have you ever felt dissatisfied with review standards when opening an account to use ad tech services
provided by digital platform operators? (This includes accounts reviewed midway as well) [Multiple answers
accepted]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90%
Google
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Yahoo! a
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h
LINE =
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r
Others
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¥ a) Although review standards are disclosed, the standards are abstract and lack objectivity
“'b) Review standards are not fully disclosed and lack transparency
c) We feel the actual reviews are not done according to the disclosed standards
d) The reviews are prejudiced and lack consistency
¥ e) Other (Select this option if there are issues in account review standards excluding the above a) to d) )
“f) Don’t know

¥ g) We do not have complaints
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Q20. Have you ever felt dissatisfied with review standards when opening an account to use ad tech services
provided by digital platform operators? (This includes accounts reviewed midway as well) [Multiple answers
accepted]

Google Yahoo! Facebook Twitter LINE Others
Answers Number | Ratio (%) | Number | Ratio (%) | Number | Ratio (%) | Number | Ratio (%) | Number |Ratio (%) | Number |Ratio (%)
of of of of of of
answers answers answers answers answers answers

a) Although review standards are

disclosed, the standards are 1 9.2 7 7.9 3 5.8 2 43 4 6.2 2 3.3
abstract and lack objectivity

b) Review standards are not fully
disclosed and lack transparency 13 10.9 7 7.9 4 7.7 2 4.3 1 3.1 1 1.7

c) We feel the actual reviews are

not done according to the 6 5.0 4 4.5 2 3.8 1 21 1 1.5 1 1.7
disclosed standards

d) The reviews are prejudiced and

lack consistency 3 2.5 2 22 i ) 1 2.1 i il 1 1.7

e) Other (Select this option if

there are issues in account

review standards excluding the 1 0.8 1 1.1 i ) 1 21 i il ) il

above a) to d) )

f) Don’t know 15 12.6 15 16.9 10 19.2 11 23.4 15 23.1 7 11.7

9) We do not have complaints 79 66.4 60 67.4 33 63.5 30 63.8 44 67.7 50 83.3
Number of respondents 119 - 89 - 52 - 47 - 65 - 60 -
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Q20-2. (For those who answered a) to e) at Q20) How did this impact your business activities? [Select
one]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
Google N ]
Yahoo! e |
Facebook Ny -]
Twitter I ]
LINE s |
Others

M a) It had a serious impact on business activities M b) It had a moderate impact on business activities
[ c) It had only a slight impact on business activities d) There had been no impact on business activities
M e) Don’t know

Google Yahoo! Facebook Twitter LINE Others
Answers Number| Ratio |Number| Ratio |[Number| Ratio |Number| Ratio |[Number| Ratio |Number| Ratio
of (%) of (%) of (%) of (%) of (%) of (%)
answers answers answers answers answers answers
a) It had a serious impact on i | ) | _ i i ) |
business activities
b) It had a moderate impact 8l 320 3 214 1 11.1 1 16.7 1 16.7
on business activities
¢) It had only a slight impact 4 16.0 3 214 2l 222 1 16.7 1 16.7
on business activities
d) There had been no impact ol  36.0 4 286 3 333 2l 333 1 16.7 3 100.0
on business activities
e) Don’t know 4 16.0 4 28.6 3 33.3 2 33.3 3 50.0 - - 172
Number of respondents 25 100.0 14 100.0 9 100.0 6 100.0 6 100.0 3 100.0




Q21. What are the reasons your company conducts direct business transactions with your current
digital platform operator? Please select from the following. [Multiple answers accepted]

0% 10% 20% 30% 40% 50% 60% 70% 80%

a) The number of advertisers and media agencies it possesses _
b) Targeting accuracy which has been enhanced with a vast amount of _
data and appropriate price setting
c) Usability of services combining multiple ad tech services _
d) Technological edge like real time bidding Db
e) Connectivity of ad servers used by our company _

f) Valid verification of advertisement effects D

g) User-friendly interface [

h) Other (Select this option if you feel there are reasons to do [ ]
business excluding the above a) to g))

i) There is no particular reason _
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Q21. What are the reasons your company conducts direct business transactions with your current
digital platform operator? Please select from the following. [Multiple answers accepted]

Answers Number of Ratio (%)
answers

a) The number of advertisers and media agencies It possesses 85 68.5
b) Targeting accuracy which has been enhanced with a vast amount of data and appropriate price setting 64 51.6
c) Usability of services combining multiple ad tech services 68 54.8
d) Technological edge like real time bidding 53 42.7
e) Connectivity of ad servers used by our company 30 24.2
f) Valid verification of advertisement effects 25 20.2
g) User-friendly interface 8 6.5
h) Other (Select this option if you feel there are reasons to do business excluding the above a) to g)) 4 3.2
i) There is no particular reason 15 12.1

Number of respondents 124 -
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Q22. Currently, in the digital advertising market, there seems to be a certain movement (vertical
integration); digital platform operators manage powerful mediums while distributing advertisements
(matching) using ad tech in the backdrop of the said media’s power. Do you have any concerns about this
progression of vertical integration? If so, what concerns do you have? Please select from the following.

[Multiple answers accepted]
0

=

10% 20% 30% 40% 50% 60%

a) Digital platform operators select media to their advantage for
ad tech services (advertisement distribution) provided by them

b) Digital platform operators limit distribution of their media unless it is via
their own ad.tech services

c) Conditions for competition are unfair for other digital platform operators,
as when advertisement matching is conducted, it is required to connect to
other matching platforms after bidding is decided at their own platform

d) As vertical integration occurs, representation of both advertisers and
publishers progresses to trigger conflict of interests for the mediation
function matching advertisers and media

e) For ad tech in contract with publishers, digital platform operators that
provide the said ad tech include conditions that interfere
with ad tech use provided by competitors

f) APl access between competitor companies are unjustly shut down,
causing data to be fenced in by a digital platform operator

g) Other (Select this option if you feel there are concerns
excluding the above a) to f) )

h) There is no particular concern
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Q22. Currently, in the digital advertising market, there seems to be a certain movement (vertical
integration); digital platform operators manage powerful mediums while distributing advertisements

(matching) using ad tech in the backdrop of the said media’s power. Do you have any concerns about this

progression of vertical integration? If so, what concerns do you have? Please select from the following.

[Multiple answers accepted]

Answers Number of Ratio (%)
answers

a) Digital platform operators select media to their advantage for ad tech services (advertisement distribution) provided

68 54.4
by them
b) Digital platform operators limit distribution of their media unless it is via their own ad tech services 41 328
c) Conditions for competition are unfair for other digital platform operators, as when advertisement matching is
conducted, it is required to connect to other matching platforms after bidding is decided at their own platform 35 28.0
d) As vertical integration occurs, representation of both advertisers and publishers progresses to trigger conflict of
interests for the mediation function matching advertisers and media 33 26.4
e) For ad tech in contract with publishers, digital platform operators that provide the said ad tech include conditions
that interfere with ad tech use provided by competitors

22 17.6
f) APl access between competitor companies are unjustly shut down, causing data to be fenced in by a digital
platform operator 28 22.4
g) Other (Select this option if you feel there are concerns excluding the above a) to f) ) 1 0.8
h) There is no particular concern 44 35.2

Number of respondents 125 -

176



Q23. When using ad tech services provided by digital platform operators, do you have a grasp on what
type of data you provide to them, or what type of data is provided from them? [Select one]

0% 10% 20% 30% 40% 50% 60%

a) We know what data we provide and being provided
by them

b) We know what data we provide, but we do not have
a grasp on what data is provided by them

c) We know what data is provided by them, but we do not
have a grasp on what data we are providing

d) We do not know what data we provide and are provided

T
]
I
by them I

Answers EIRE - )& (%)
a) We know what data we provide and being provided by them 26 20.8
b) We know what data we provide, but we do not have a grasp on what data is provided by them 1 8.8
c) We know what data is provided by them, but we do not have a grasp on what data we are providing 24 19.2
d) We do not know what data we provide and are provided by them 64 51.2
Number of respondents 125 100.0




- Q23-3. (For those who answered “a) We know what data we provide and are being provided by them” at
Q23) Are you satisfied with the data provided by the digital platform operation when compared to the data
you provide to them? [Select one]

0% 20% 40% 60% 80% 100%
(G0 0| © I
VUL I
Facebook mmmmssssss I
Twitter I
M B N

OTCI [

M a) We are very satisfied I b) We are moderately satisfied Il ¢) We are not very satisfied
d) We are not satisfied at all ™ e) Don’t know

Google Yahoo! Facebook Twitter LINE Others
Answers Number | Ratio (%) | Number | Ratio (%) | Number | Ratio (%) | Number | Ratio (%) | Number |Ratio (%) | Number | Ratio (%)
of of of of of of
answers answers answers answers answers answers

a) We are very satisfied 2 1.7 1 5.0 - - - - 1 6.7 1 4.3
b)wearemoderate|ysat.sf,ed 18 ............. 692 ” ............. 550 3 ............. 571 ..................... 6 ............. 5 00 .................... 6 ............. 4 00 14 ............. 609
c)wearenowerysatlsﬂed __________________________________ 138 ____________________ 2 100 ____________________ 2 1432167 3 _____________ 200 .................... 6 _____________ 2 61
d)wearemtsatlsﬂedata" ................................. 3 115 .................... 2 100 .................... 1 ................. 7 1 ..................... 183 .................... 167 .................... 143
e)Don,tknow ............................................................... 2 ................ 7 74 ............. 2003 ............. 2143 ............. 2504 ............. 267 .................... 143
Number of respondents 26 100. 0 20 100. 0 14 100.0 12 100.0 15 100. 0 23 100. 0
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Q24. (For those to answered a) or b) for at least one question out of Q8-2, Q8-2, Q11-2, Q13-2, Q14-1-2, Q15-2,
Q16-2, Q17-2, Q18-2, Q19-2 and Q20-2. This question is for companies who answered they have a certain
amount of disadvantageous effects due to actions taken by digital platform operators. Do you believe your
company has no choice but to use ad tech services offered by digital platform operators? If so, please select
the reasons from the following. [Multiple answers accepted]

Google

Yahoo!

Facebook

Twitter

LINE

Others

" 3)
" b)
c)
d)
" e)

“f)

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

I

The turnout from the ad tech services has a large share in our total sales

There are no other ad tech service providers except the ad tech service provider in question

The human and financial burden of transitioning to another ad tech service is too large

The accumulated data (such as transaction data) of the said ad tech service is necessary for business

Other (Select this option if you feel there is no other choice to use the current service excluding the above a) to d))

We do not believe our company has no choice but to use ad tech services in question 179



Q24. (For those to answered a) or b) for at least one question out of Q8-2, Q8-2, Q11-2, Q13-2, Q14-1-2, Q15-2,
Q16-2, Q17-2, Q18-2, Q19-2 and Q20-2. This question is for companies who answered they have a certain
amount of disadvantageous effects due to actions taken by digital platform operators. Do you believe your
company has no choice but to use ad tech services offered by digital platform operators? If so, please select
the reasons from the following. [Multiple answers accepted]

Google Yahoo! Facebook Twitter LINE Others
Answers Number of| Ratio (%) [Number of| Ratio (%) |[Number of| Ratio (%) [Number of| Ratio (%) [Number of| Ratio (%) [Number of| Ratio (%)
answers answers answers answers answers answers

a) The turnout from the ad tech
services has a large share in our 37 74.0 8 24.2 2 13.3 1 71 3 20.0 - -
total sales
b) There are no other ad tech
service providers except the ad 15 30.0 3 9.1 3 20.0 3 214 5 33.3 - -
tech service provider in question
¢) The human and financial
burden of transitioning to another 9 18.0 - - - - - - - - 1 8.3
ad tech service is too large
d) The accumulated data (such
as transa'ctlo'n data) of the said ad 7 14.0 i i 1 6.7 i i 1 1 1 1
tech service is necessary for
business
e) Other (Select this option if you
feel there is no <_>ther chou_:e to use 2 4.0 10 30.3 i i i i 1 6.7 1 1
the current service excluding the
above a) to d))
f) We do not believe our
company has no choice but to use 7 14.0 16 48.5 11 73.3 10 71.4 7 46.7 1 91.7
ad tech services in question

Number of respondents 50 - 33 - 15 - 14 - 15 - 12 -
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